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(a) What is a family budget? Discuss the advantages

[
.

of maihtaining a family budget.
- OR

(b) An effective customer grievance redressal
mechanism is an essential for building trust on
any business. Keeping in view of this, Reserve
Bank of India introduced the Banking Ombudsman
Scheme from the year 1995. State the grounds on
which complaint can be lodged By the customer

and state its procedure.
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2. (a) What investment options are provided by the Indian
Post Office? Detail their benefits.

OR .

(b) Define ‘Equity’ in the context of stock markets.

What are the main types of equity investments?
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3. Write a short note on ANY TWO :

(a) Savings account vs. Current account
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(b) NEFT
(c) Sukanya Samriddhi Yojna

(d) Education.Loans
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(a) Ahalyse the importance of effective financial
planning and budgeting in personal finance. How
does it contribute to achieving financial stability?

OR
(b) Evaluate the role of the Indian Post Office in

facilitating financial inclusion through its various

services.
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2. (3) What are the implications of adopiing digital wallets

for everyday transactions in India? Discuss the
benefits and potential risks.

OR

(b) Define a ‘mutual fund’ and explain the different

. categories of mutual funds available to investors.
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3. Write a short note ;n ANY TWO:
(a) KYC
(b) Credit cards vs Debit cards
(c)_SyStematic Investment Plans '(SIPS)
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Instructions for Candidates
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but the same medium should be used throughout the
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1. (a) Exp.lain the concept of ‘Brick and Mortar’
business. Explain advantages and disadvantages

of this business format. - ' %)

(b) ‘Coordination is a binding force’, in the light of
this statement, discuss the importance and
limitations of coordination as a function of

management. [ 9
OR

(a) Define franchising. Why it is getting popular in
India? 9

(b) What considerations should be kept in mind while

choosing a form of Business Organisation? (9)

2. (a) What are the problems of small scale sector?
Discuss the steps taken by the government to solve
these problems. | 9)
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(b) What is the jmportance of identification of pusin€sS
opportunity? How are business opportunities

identified by the entrepreneurs? ©)
OR

- (a) “A business owes certain obligations towards
~ different groups.” Identify those groups and explain

the obligations of business towards those groups-

9

_ (b) Explain the term business environment. How does
Social and political environment influence the

working of a business? 9)
3. (a) What is strategic planning? What are the steps
| - involvéd in strategy formulation? 9)

(b) What 1s dcc1s1on making? Explain the qualltatlve

| techmques of decnslon making. (9)

OR

(a) What ae the causes of creation of informal groups? |

How should a manager handle these groups?

9)
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(b) Explain and illustrate product based organization

structure. What are its merits and demerits?

9)

4. (a) What is motivation? Explain Herzberg’s two factor

theory of motivation. (9)

(b) Define leadership. Differentiate between

transformational and transactional leadership.

9

OR

(a) “Good communication is the foundation of sound

management”. Comment. | 9)

(b) What is budgetary control? How Budgets can be

used for ensuring effective managerial control in

large enterprises? . (9)

5.  Write short nétes on any two of the following:
(a) Learning organization
(b) Workforce Diversity and Inclusion
(c) Make in India Movement
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(d) Flexi-time and Work Life balance

(e) Learnings from ‘Ramayana and Gita’ for effective

management (9%2)
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1. (a) “A budget aligns financial resources and activities
with the strategic goals and objectives.” State the

importance and process of preparing budgets.

OR

(b) What do you wunderstand by the term
“Dematerialization”? How have DEMAT accounts

eased the process of holding and trading

shares?
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2. (a) “Life insurance has become an inevitable need in
~ our lives nowadays.” Do you agree? Why do you

think it is important to take a life insurance policy?

What are the differ'ent types of life insurance

available in India?

OR

(b) “A mortgage is critically important part of home
loans.” In light of the above statement, explain
the meaning and importance of mortgage.
Distinguish between Hypothecation, mortgage, and

pledge.
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3

Write a short note on ANY TWO :
(a) Shor? Term Capital Gain

(b) Property Insurance

(¢) Kisan Vikas Patra

(d) FPO

4 @t w s um fifae

(F) Ioqsfors ol @

(®) wufty S

(W) fFEm REm =@

(¥) vwda

Fifer< wEiieenead YR (2000)
KALINDI COLLEGE LIBRARY *



[This question paper contains 4 printed pages.]

Your Roll No..cceeeeeeeee..
Sr. No. of Question Paper : 3909 I
Unique Paper Code 2416000002 and 2416001002
Name of the Paper . Finance for Everyone |
Name of the Course : Common Prog Group -

| (UGCF)

Semester 111
Duration : 1 Hour Maximum Marks : 30

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. All questions carry equal marks.
3. Attempt all questions.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

Eﬁ%ﬁ?ﬁiﬂ

] WIHA-T D R @ e Ry v MR w@e ® s
g T | |
wifers) wefdenerd JRIPIeid
KALINDI COLLEGE UBRARY  , ;. ,



3909
2 el wE @ IR

3 Muﬁﬂ‘vﬁmi'
mmwﬂ%"ﬁ"“

ot et o e B A O

v& o ¥ A, Ak

«All individuals have to be very careful not only in

assessing their requirement of flnapce but also in
which funds are raised

1. (a)

deciding on the forms in
and utilized”. In the light of the above statement,

highlight the importance and process of financial

planning.
OR

(b) What do you mean by Hedging? Explain the
strategy of hedging with the help of an example.
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2. (a) “A mortgage is critically important part of home
loans.” In.light of the above statement, explain
the meaning and importance of mortgage.
Distinguish between Hypothecation, mortgage, and

pledge.
OR

(b) Elaborate on any four popular schemes launched
by Indian Post over the years. Also, state tax

implications for the same.
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2. (a) “A mortgage is critically important part of home
loans.” In. light of 'the above statement, explain .
the meaniﬁg ‘and importance of mortgage.
Distinguish between Hypothecation, mortgage, and
pledge.

OR

(b) Elaborate on any four popular schemes launched
by Indian Post over the years. Also, state tax

implications for the same.
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3. . Write a short note on ANY TWO:
(a) Long Term Capital Gain
-~ (b) Motor Insurance
(c) Permanent Account Number
(d) Kisan Vikas Patra
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1. (a) State the empirical rel&
symmetrical and asymmetr! )
v
is considered to be a better 8

en mean, median and mode for

ationship DEtWE ) :
Under what circumstances median

cal distributions.
rage than Arithmetic Mean? 3)

uency distribution of wages (in 000 rupees) paid to the
q

(b) You are given fre .
workers in a factory as under :

20-28 | 28-36 | 36-44 | 44-52 52-60 | 60-68 | 68-76

12 18 32 16 14 4

Wages (in 000°3)

No. of Workers 4

(6)

Calculate Mean Deviation about Median.

(c) A car manufacturing company facing a dispute with labour decided to make
changes in compensation policies after deliberation with the labour union.

The following table exhibits information before and after settlement:

Before dispute After dispute
No. of workers 2000 - 1900
Mean wages - 650 700
Median Wages 680 650
Standard Deviation 50 40

You are required to compare the position before and after the dispute
settlement in terms of : '

(1) Total Wages,

(i) Modal Wages,

(1) Coefficient of variation,
(iv) Skewness, and

(v) Also comment on whether employees got benefits out of this settlement
or not. ' 9

.. KALINDI COLLEGE LIBRARY
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3
OR

(d) A toy manufacturing firm recorded the daily production data for two machines
over a period of ten days, as shown below :

Day 1 2 3 4 5 6 7 8 1 9|10
MachineA | 70 | 64 | 72 | 61 | 65 | 79 | 65 73 | 64 | 67
Machine B 68 62 64 68 70 71 63 70 60 64

(i) You are required to calculate and comment on Mean and Standard

Deviation.
(ii) Which machine manufactures toys more consistently?

(iii) How will the statistics change if all the observations of Machine A are
decreased by 10, and all the observations of Machine B are increased
by 30? Show the revised results. %)

(e) A survey provides data on the monthly income (in thousand ruﬁees) of

consumers as follows :

Monthly Income (000 %) | 40 - 42 | 43-45| 46-48 | 49-51 | 52-54
Number of Consumers 32 22 31 44 21

You are required to calculate the following statistical measures :
(i) First four moments about the mean.
(ii) Moment coefficient of skewness.

(iii) Moment coefficient of kurtosis. ' )

(a) An investor uses either mutual funds or stocks to manage his portfolio. The
probability of his investment losing value if he invests in mutual funds is 0.1,
and the probability of his investment losing value if he invests in stbcks is
0.2. What is the probability that his investment lost value? 4)

< el e JRTaTe - AL
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(b) A company produces electrical

(c)

(d)

- (D

4

components utilizing three non-overlapping

work shifts. It is observed that 50%, 30%, and 20% of the con:ponents are
produced during shifts 1, 2, and 3, respectively. Furthermore, 6%, .]O%, and
ts produced in shifts 1, 2, gmd-3, respectively, are

8% of the componen
defective. Determine:
(i) What percentage of all components is defective? |
(i) Given that a defective component is found, what is the probability that
it was produced in shift 3? ‘ (5)

A company receives 80% of its shipments from its supplier without any
damage. The quality control inspector examines 16 shipments from this
supplier. Determine the average number (mean) and the standard deviation
of shipments that arrive undamaged. . B ()

A manufacturing plant experiences an average of two equipment failures per
week. What is the probability of:

(1) exactly three equipment failures in a given week, .
(i) two or more equipment failures jn a given week,
(1)) no equipment failures in a given week?

[Given: e—5=0.;353] = )
" OR

A salesman makes a sale on an average of 60% of the total customers he

contacts. If 4 customers are contacted on a particular day, what is the
probability that:

(1) he makes sales to exactly 2 customers,

(if) he could sell to at least one customer. . (6)

Two financial analysts, A and B, are given a complex financial problem to
solve. The probabilities that A and B will solve the problem correctly are 0.5

and 0.3, respectively. What is the probability that both analysts will solve
the problem correctly? (6)
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(8) A contractor has two potential contracts: an electrification contract and a

plumbing contract. The probability that the contractor will get the electrification

contract is %. The probability that the contractor will not get the plumbing
; 8 : ;
contract is =. The probability that the contractor will get at least one of the

- :
contracts is . Find the probability that the contractor will get both contracts.

(6)

-

3. (a) A company engaged in the installation of water purifiers, is evaluating the
" relationship between employee performance and customer satisfaction in its
sales department. The performance scores and consumer satisfaction scores

for 10 sales representatives are given below :

Sales Performance Customer
Representatives Scores Satisfaction Scores
A 45 42
48 1 46
C 40 . 38
D 42 45
E 38 40
F 46 44
G 41 38
H 30, . 34
I 36 35
] 42 4

Using Spearman’s Rank Correlation Coefficient, determine if there is a
significant correlation between employee performance scores and customer

satisfaction scores. Interpret the result. 9)

; ' P.T.O.
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(b) Two regression lines showing relationship between Output (Y) and Labour
Hours (X) is as follows :
2Y - X-50=0and 3Y -2X -10=0
You are required‘to calculate the following :
(i) The mean values of output and labour hours.

(i) Coefficient of correlation between output and labour hours.

(iii) The standard error of estimate for labour hours on output if variance
of output is 4. - )

OR

(c) XYZ Ltd. wants to understand the relationship between its sales performance
and employee incentives. The HR of the firm collects data from the last 9
months on the total sales (in thousands of rupees) made by sales
representatives and the total employee incentives (in thousands of rupees)
which are given below :

Incentive (000 3) 14 19 | 24 | 21 | 26 | 22 15 | 20 | 19

Sales (00000 T) 31 [ 36 | 48 | 37 | 50 | 45 | 33 41 | 39

You are required to :

() Compute the coefficient of correlation and the regression coefficients. -

(i) Determine the regressio‘n equations.
(i) What will be the value of Sales if the ‘incentive is 30,0007

(iv) Determine the standard errors of estimate for incentive on sales and
for sales on incentive, (14)

(d) “Regression analysis is used to find the cause-and-effect relationships whereas
;:)orrelatlon indicates the possibility of association between two variables.”
© You agree? Explain with relevant examples. @)

- “KALINDI COLLEGE LIBRARY
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4. (a) A company collected the sales data over seven years from 2017 to 2023
from the sales department which is given below :

Year 2017 2018 2019 | 2020 2021 2022 2023
Sales (X crores) 80 - 90 92 l 83 94 99 %)

You are required to :

" (i) Fit a straight-line trend using the method of least square.

(i) Compute the trend values for the years 2017 through 2023.

(iii) What is the monthly change in sales?

(iv) Shift the origin to 2023. 9)

(b) With which component of a time series would you mainly associate each of

the following?
(i) Lockout in a factory, delaying production for 15 days
(i) Sales of a textile firm during Deepawali
(ii)) Fall in death rate due to advances in science
(iv) A period of prosperity -

(v) A need for increased wheat production due to constant increase in

population &)

(c) The coefficient of rank correlation of the return and risk of 10 securities was
found to be 0.2. It was later discovered that the difference in ranks in return
and risk for one security was wrongly taken as 9 instead of 7. Find the
correct value of the coefficient of rank correlation. , 4)

OR

(d) The production of commodities during 2017-2023 is given below :

Year | 2018 | 2019 | 2020 | 2021 | 2022 | 2023

Production '
12 | 13
('000 tonnes) 10 15 1 18 | 20

PT.O.
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(e

®

. @

(b)

You are required to : :
parabolic trend.

alues for the years 2018 through 2023.

(i) Fit a second-degree

(ii) Compute the trend v
(i) Predict the production for the year 2026. 9)

.The linear trend of sales a company is ¥1300000 in 2023, and it rises by
¥32500 per year.

You are required to :
(i) Determine the trend equation.

(ii) Convert the annual trend into a monthly trend. _ (5)

State the properties of regression coefficients. Also, explain the computation
of correlation coefficients from regression coefficients with the help of an
example. ' : ).

You are provided with the following data on the yearly consumption in a

household for the current year (2023) and base year (2022).

- ; 2022 2023
Quantity Price Quantity Price

Wheat (Kg) - 180 20 190 24
~ Rice (Kg) 50 - 35 54 40
Pulses (Kg) 50 60 53 75
Edible Oil (Liters) 20 80 22 85
Sugar (Kg) 40 - 445 45 48
Cooking Gas (Kg) - 50 33 56 36
| Clothing (Meters) 60 % 0 %

Compute the cost of living Index number using Laspeyres’, Paasche’s and
Fisher’s methods. %)

The lifetime of a certain kind of water heater has a mean life of 400 hours -

and a standard deviation of 45 hours. Assuming the distribution of lifetime
to be normal, find -

)] Percentage of water heaters with a lifetime greater than 470 hoﬁrs,

(i) percentage of water heaters with a lifetime between 385 and 41 5,

Wifor Trefdenera qwergTery
KALIND! COLLEGE LIBRARY
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(c)

@)

(e)

9

(iii) the minimum life of the best 10% of water heaters. '
[Given: Table Values of area for Z = 1.56 is 0.4406, Z=0.33 is 0.1293,
Z=1.29 is 0.4015] 9)
OR

The cost-of-living index uses the following weights for a given basket

comprising five commodities :

Food 30, Rent 15, Clothing 10, Fuel 20, Miscellaneous 25. During the
period 2018-2023, the cost-of-living index rises from 100 to 205. Over the

same period, the percentage rise in prices was:

Rent 50, Clothing 160, Fuel 85 and Mlscellaneous 180. What is the
percentage change in the price of Food? 9)

A restaurant receives online reviews with ratings following a normal distribution
with an average score of 4 stars (out of 5) and a standard deviation of 0.5
stars. What percentage of customers give ratings above 3.5 stars?

[Given : Table Values of area for Z = 0.5 is 0.1915, Z=1 1is 0.3413]

. )
Explain the properties of normal distribution. Discuss conditions under which
a Poisson Distribution tends to be Normal Distribution. 4)

() wfim 3R satia fan @ e e, wftaw i ages & 9 SEe 49

qaER f Rl ¥ WA N FAIOET WA F JseR S A A 27
(3)

(@) S v FE A S B R T A I w5 s R (ooomﬁi)

' gfdr+t 1 9&gT 4 12 18 32 16 14 4

fopetar w8

Tt (000' T | 20-28 | 28-36 | 36-44 | 44-52 | 52.60 | 60-68 | 68-76

wiftaa & ARy WA e @ 1o Ffew) (6)

P.T.O.

Fiferd) TRIfdenad JKIgIe
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10

() ﬂﬁﬂ?t%mﬁmmmﬁ?ﬁwmﬁﬂfwm&uﬁmwﬁm
fRAur- A @ we mmﬁmmﬁmm&mu#ﬁaﬂim

ﬁma@mmﬁmwﬁhm%

" AT Az ¥ amx
et t 2000 1900
e TR 650 700
e Tt 680 650
- 50 40
A g 2 B A fEr fes A R Ak o A Rufy i goer Al
(i) %= weq, ' '
(ii) e wigq,
(iii) =T = o,
(iv) fowsmm, 3R

(v) =@ Ty ¥ whal @ oot fier @ 78, 5@ w3 fea i)
(9)
g
(%) wﬁ:@mﬁﬁwmﬁ%wﬁﬁaﬁmﬁamﬁ%%ﬁmwhﬂﬁﬁé.
v, Sar & R e w2

= |1 | 2| 3| 4|5 |6 |7 |8]|9]|T1l0

aftre | 70 [ 64 | 72 | 61 | 65 | 79| 65|73 | 64| 67

it 68 | 62 | 64 | 68 | 70 | 71 | 63 | 70 | 60 | 64

(i) 9@ WeA ¢ A FaerT @ 0T S 991 39 W ot F A st
&t ot ) -

(ii) ﬁ?—ﬁmw‘wﬁmmm%mi?

(i) 3R THT A B TR Voo F 10 AN TN W WC T AAT B B W
Rl ¥ 30 B gfy w A g A Wi A T IRaK BN ? FiEr TR
L (9)

(%) T wF i o i T (SR W ¥) & Y T R Ry ¥ -

 KALINDI COLLEQE LIBRARY
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wRw AT (0007) | 40-42 | 43-45 [46-48 | 49-51 | 52-54

ITNITA Y dET 32 22 31 44 21
AR PR A Jar @ T SR B
(i) wmem B IR ARy wR el
(i) R w Aol i
(i) FERE W L I (9)

2 (=) & Faww AT WERRA F FoRE G B O A A LA B W RS W
v A 1 AR A T we A Fraw o 8 @ I PR B A R e
ot W 01 8, 3R AR 78 wiw A Py o & A 36D PN B A R e
&t G 02 #1 U FRW @ 7 ¥ T SR A e w87 ()

(@) T HER A R - AR e R @ I we R TeEl B I e
1 7% Y@ @ 2 R 50%, 30% IR 20% Wew wAw AR 1, 2 IR 3 B WA
IaiRd 9R 1 T Fw, fe 1, 2 Ak 3 A IcRd wew A ¥ FAW: 6%, 10%
3R 8% et ¥ FuiRa A :

(i) wwmmmwa?
(ii) a% far v 2 & v AUyt wew TR S 8, IS @ wienan # & e
Jearew e 3 § gaw @e (5)

(1) T HEN B FE it ¥ 80% e B A JEa @ wa B ) o
fraaw Pl T sgfdadtl ¥ 16 Awdie At T s ) R Rl geem B
TEaY A figde A stea wem (W) IR A Raew PR ke (4)

(9) v Rafwio ga3 ¥ afy axE e A ITER0 '@ BN §) T e a0 R

(i) & Ry 7 qmE A SiF AT IS RAwwarw,

(i) 5 aam® ¥ A 71 Afrw ITHCT "W B,

(i) fdr g ¥ wrd Iy @O T g ?
[Given: e2=0.1353] | (5)

T FEROTTY Yergny Lo
KALINDI COLLEGE LIBRARY
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(@) sf & A fyare @ @ @ T TR Pafn wwd A aE TS o
w_mgmﬁmmﬁmmmmﬁimﬁﬁﬂfm
e 3 TR ik A A FEEQ verfa w2

AaE AT Az ¥ar
e - 2000 1900
m—— T 700
s T 680 650
S -N— 50 40
R s 2 B s Rar Feem A T dk T @ Rafy @ geen A
(i) T= wor, ' '
(ii) “ifset W,
(iii) FwTan = TN,
(iv) o, IR

(v) =@ o ¥ wARa A e Bren @ w8, 5@ W Reowoh Sl
(9)
a1

(%) e Raatr fEior e X T R o s A S w2 Ieue o = Raid
e, S e AR Ram T 2 )

g -1 | 2| 3|4 |S5|6]|7|8]|9]10

e | 70 | 64 | 72 | 61 | 65| 79| 65|73 |64 67

it 68 | 62 | 64 | 68 | 70 | 71 | 63 | 70 | 60 | 64

(i) 9 WreA ¢ A e @ TR R A I8 R Rowed e e
Lok C R -
(i) FT-& T Raele = Frfor siftres gEaan @ R 27

(ﬁi)uﬁmA%wﬁaﬁimtﬁﬂmammmB%w
Yerol ¥ 30 o gfg o S Y A AR A T IR T ? FAMAUS TR
ml (9)

(5) o W ¥ shanal o e v (o v ¥) F o T v Y W R

 KALINDI COLLEQE LIBRARY
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iR T (0007) | 40-42 | 43-45 | 46-48 | 49-51 | 525
ITHITHTS 1 weqr 32 22 31 44 21
IR Frafafm wifert sumi @ e SCR B
(i) #mem & IR AR wow aw St
(ii) FwSTT = At i
(iii) e =1 3wl s (9)

2 (%) & FRTw ao AERRE o) yeie e @ g A1 A I 6T W R @

ITART e 1 AR T T we A R we @ @ 36 B R e A R
ot g 0.1 2, iR AR T wie ¥ fraw o 8 @ 39D PR S 1 A R
o W 0.2 1 IED i @ e A e A A e 27 (4)

(@) e R e - SR e R v e R e o e e
?1 78 I T B R 50%, 30% AR 20% Wew FAM: AR 1, 2 I 3 B K=

IR B ¥ R o, e 1, 2 k3 F IciRd wew A A FAW: 6%, 10%
3R 8% Awqet ¥ FuiRa Ak

(i) = ve=t = e wiwe gt 27

(ii) =% foar wran 2 fo v Awqel wew qran S 2, T@E T Widedar @ e TEe
I R 3 ¥ g WP (5)

() waﬁwﬁaﬁaﬁa&ﬁmﬁ%w%ﬁr@?mmiﬁaﬁ%mﬁ%%lw
Fraaw Fdwe @ srgfdedt § 16 frdie &t W @ 1 R R e @
TE A fimde A siea den (o) s e R PR Sk (4)

(9) v fafwior g9 F wiy acre sliea 2 v w1 ¥ saa s @ 2 -

(i) v Ry ¢ v F S T IvEw Rweam,
(i) et qaE ¥ 2 A AT ITFT "W BT
(iii) fre e ¥ g Iuaww @ A& gaN?
[Given: e?=0.1353]

(5)

m; m P.T.O.
KALINDI COLLEGE LInatgy
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——————————

Wi AT ©00%) | 40-42 | 43-45 | 46-48 | 49-51 | s2-54

IR Y dEaT 32 22 31 44 21
AR Frfifes ittt Jurl @ A FER B
(i) 3mA & TR AR W TR ot
(i) foaTe =1 Jreet e
(i) wCEE = T Ui (9)

N

(%) v PATE I WRRa F weie wE @ Y T W AT B T RS W
I e 21 AR 76 Ty e A P o # A 6 Faw B A aw
N g 01 2, 3R AR a5 wiw & Py we 2 A IS R @ A R e
m‘tﬁmoe%laﬂ%ﬁam%{miﬂaﬁaﬁmw%? (a)

(@) v FEN G N - A e R i IwAnT e [AEa gl T IR weR
21 78 @ W 2 & 50%, 30% A 20% Wew wAw: AR 1, 2 A 3 D WA
IaiRa B ¥ @ Fwar, A 1, 2 3k 3 F IR el A 4 T 6%, 10%
ik B%W'gl fRuiiRa o :

(i) wwmmmwﬁ?
(ii) @5 foar war 2 % v Awqul wew wrar Wi 2, TEe o Wi @ Ry e
I fiwe 3 ¥ g @w? (5)

(1) v T R A it A 80% e R Rl Jeraw @y B #)
fRaam Fes @ Jfded @ 16 Beie @ Wi w0 R R T @
UEH A fide A sitew wEm (WeA) SR A Reee BuiRe SR (4)

(7) v fafwior gaa § aft qwam Sae & IR w0 AN ¥ wae wEe a2
(i) o Re g waE ¥ Sta O Ivaw Rwea,

(i) frét wme ¥ < o AfE IUHOT T B,
(iii) Rt e ¥ i Iun @ T g0

[Given: ¢?=0.1353]

(5)

e B —. PTO.
KALINDI COLLEGE LIBRARY '
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ATRAT AT (0007) | 40-42 | 43-45 | 46-48 | 49-51 | 53 g,
IYHIHTS Y deqr 32 22 31 44 21

Fo ol wiierata gurl 2 o wE B

(i) % & AR A wow ww S

(ii) fowme & sml e

(iii) HHYE & vl Iquries (9)

2 (F) v Favs g AERRE A yale @ @ e @ @ IS 6 @ =hew aw
- ITT e B1 AR T8 g ws A P o B A IS FAW R T A 0 ey
AT 0.1 2, 3R AR 97 wie A Fdw o 2 A 39S FAT B [ ¥ w0 ey

R WA 0.2 B IAD P D w A A g A w37 (a)

(|) v w A K- R w R # 3w i B genl H Ie Fwea
21 7% @ T ? & 50%, 30% AW 20% HeH wAW: R 1, 2 AR 3 B WA
Jeaiied B ¥l TS o, e 1, 2 3R 3 A Iied wewl A A FAE: 6%, 10%
IR B%WEI ﬁuﬂ?aa‘ﬁﬁw

(i) = v = e vl ot 27
(i) @5 fear 7 2 f v Awqul wew U W 2, TS F Wit 3 o @
Iaare e 3§ g3 an? (5)

(1) TF TR A AT FfiE & 80% fiwde B R e @ W S F) e
fgaw w8 smgfdedl @ 16 A & wiw awar 21 e G qeae @
TETR a fimde 9 e e (W) AR AeE e fuiRa fkm (4)

(9) v fafeior gaT ¥ wfe qeare Saae @ ST @ B F) THE S6E 2

(i) frdt g ¢ g A Std A ITHOT fAwea,
(i) fordt v ¥ < @ AfRrd ITHT WA B,
(iii) frt qmE A FE IuAO @A TE g7

[Given: 2 =0.1353] (s)

T Ferfvares Jerynry pro
KALINDI COLLEGE LIBRARY
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(¥) v JswdT FoX e frg T HA TEH A J e 60% 20 R T 31 aR
) AW R 4 e ¥ @ v S 2, N e T wvEe 2

(i) 78 &r=w 2 wEa = Ao a2,
(ii) 98 o9 ¥ w5 v WES T AT FHAT @) (¢)
(F) 2 i RAwwEY, A 3k B A 560 & & Rw v wflew g @ @ w8 2,
A 3R B 3R e &) 98 T} B A ) GWEEN w9 0.5 I 03 F wy
qwrEen 2 f AN Rwvs @ @t 78 70 ¥ B AiRma? (6)
(3) T SHeR B UW A I el ¥ v Rigden seen ok e il seEm

. . 3 . . .

Sﬁmﬁﬁgﬁmmﬁaﬁaﬁmégnaﬁmaﬁqﬁnmaﬁﬁﬁ
A # 1 SR T Y T v s Pk o e 3 21 3w
A FgEy fe at SE 7" SR | (6)

3 (F) IR QAERR T T vF FR FI At favm F Ay @ wed ik e
W D A Gl = qET W @ 210 Rt TRERE B e =R R

il V3T I TEF AqR @R
viffE

A 45 42
B 48 46
C. 40 38
D 42 45
E .38 40
F 46 44
G 41 38
H 30 34
I 36 35
! 42 a1

- d'q‘a“%hmmmmm,ﬁﬁﬁam%wmwﬁ.
WWWWW%mﬁwmmmaﬁmmn

(9)
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(¥) wmmmmﬂ?ajﬁwﬁ*%mbo%aﬁﬂaﬁm%mﬁ
Mﬁﬁwﬁﬂamaaﬁmm%,ﬁfma?twmi:
(i)mmzmﬁaﬁﬁcﬁmi.
(ii) 7€ %9 A T Ta WEH N I Fhew A (6)
) aﬁﬁuﬁﬁuﬁ,A@tBaﬂmmﬁ%mwmﬁﬁnmﬁﬂi%l

A AR B N EwE A Al 2T A T HA H G HAM 0.5 M 03 T =M
v 2 R AR Rraus SR S T8 2/ g Hiforedr 7 (6)

(B) v 3ReR & T A vl ey 3: v Rregder say SR T T SR
Sﬁzﬁaﬁﬁgﬁwmﬂﬁaﬁaﬁmégumaﬁmﬁn Feer T e
A weT & 21 3P A FH A H T Ay Py o o 2 21 3R A
AR FqEy Few A FE T R . (6)

3. (%) T GABRR T qRA T FEN Jo R R A wfRal & yed ik Imew
wqite @ A9 Fa @ FedET @ 3110 R Rk @ vl @i SR

@ | e | meweme
A 45 42
B 48 46
C, 40 38
D 42 45
E 38 40
F 46 44
G 41 38
H 30 34
! 36 - 35
J 42 41

. m%hmwaﬂmm,ﬁuﬁaﬂm%wmﬁ!ﬁ
TR SR Mo wife @R B i aré wEeaqy weday 31 wRum At e Sk

(9)

IR E] HEIfdarad JRisTeld
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(@) ege (Y) R s owR (X) @ dr wen fam o & s @ @ FaR
T ‘
2Y - X-50=03R3Y-2X-10=0
(i) Swre 3R s 9 | i 7w
(ii) I SR w5 Y & A wEGaw QU
(i) afe sITYe & fAwor 4 B, @ AL W SR U2 W FTA A AT FRe
1 B ? E (9)

ar

() XYZmaﬁﬁﬁmmmﬁW%mmﬁmmil
v T TR R 9 WA A faeht R g R e R (TR T ¥)
SR e T e (xR T ) W ¥e1 g e B W A Ry F

TIETEA (1000 ?) 14 | 19| 24 | 21 | 26 | 22| 15 | 20 | 19
fast ( 100000 3) 31 36 | 48 | 37 | 50 | 45 33 41 39

HYH Y& HEN FTHE B ;. -
(i) gesdey UNH sﬂtmma‘hmaﬁm|
(ii) yieam e iR R
(iii) af? e afr 230,000 B W A A1 Fww F BNW?
(lv)mmmﬁmwﬁﬁ%mawﬁwﬁmﬁm
S ' ()

(9) wgfrTeeT TATUT T AR RV - IR - FHE G ) Aoy @ fove R e 8
et gEday & T @ AT G N GG B ST e B1” T AT GEAd B¢

R Jereol @ Y FEd| . (4)

4. (=) T w3 fagh v A 2017 X 2023 T AW A 1 Rt e o v A A
ﬁmmr% |

EL 2017 | 2018 | 2019 | 2020 | 2021 | 2022 | 2023

Rt Far sy | 80 90 92 83 94 9 92 |

F e melieRAAd. JRIgTey PTO.
Sy U RALINDY ©OLASHE LIBRARY
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AT T TN AAEE B
(i)wﬁmmWMWmmﬁ%mmn

(ii) =f 2017 ¥ 2023 A B T A T Ao

(i) Rt ¥ s wRade 7 87
- (iv) %= fg = 2023 thﬁfaﬁjﬂﬂﬁml | (9)

(®) mmaamﬁmg@a:mm%mm%mm?
(i) v e ¥ wead, 15 B T I ¥ <@
(ii) Suraet @ A T FIE T A AR
(m)ﬁm#mﬁ%mﬁai’ﬁﬂm
(iv) wfE = &
(v) veeem ¥ PR gfe & ®RY A S ¥ gfe o srawaea (5)

(1) 10 WA & wiewe IR AW @ @ FEdEy 1 OIS 0.2 TN TN AR H qar
ol i v winfa & wfawer ik AR & 3@ &1 FR TR ¥ 7 & 9™ 9 AW
forar mar am Yo wewaE & YONE T WE W T I : (4)

ar

(%) 2017-2023 & R TG T IeareT A R ww B

g 2018 | 2019 | 2020 | 2021 | 2022 | 2023

1
(000 1) 0 | 12 | g3 | 15 | 18 | 20

m"‘maﬁm%:
(i) e Rt et ey e AR

m«mm
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(ii) af 2018 ¥ 2023 % B Wyt A N A DR .
(iii) a¥ 2026  forw IeareT A wRSFEEh Ffw | (9)
() ﬁn&mﬁuﬁﬁa‘hmmmzozsimooooo 2, 3R 78 9 af 232500
T B .
. R TE FAT AAEE B

(i) wafer wiewr fPuiRe At

(ii) e wgfn = il wafer ¥ weail | | (s)

(I) WA s B R Sy @ R, GReRE TS A qeaay IO A0
F U ITEWT F GEEEl ¥ GRS |  (a)

5. (=) ﬁma%mqaﬁ (2023) 3k R T (2022) & fow v W ¥ wfiE @O W

frafafaa o1 wem v war 31
2022 . 2023

o Frar | #wa | amET Fiaa
¥ (Fmm) 180 20 190 24

P ERRED L) 50 35 54 40
HEREDY) 50. 60 53 75
QT A (e H) 20 80 22 85
S+t (Fmm) 40 45 45 48
w@rs f (Rrerram) 50 33 56 36
wefeed® . | 0 | 0 ] 0 ] % |

AT IR ‘ ' (9)

(@) T P TR @ et Hied T R 400 W T S St ol 45 R T
A e 8) e @ R @ W AN R, e a0

Ffer<! HEfIENTd JRipTerg * PT.0.
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()

(%)

16
(i) 470 W2 ¥ Fftr RaHE T A ALY = yfre,
(ii) 385 3 415 & e SRR A WX N =1 Wi,

(iii) waem 10: St Hred T AT W

[Rar 71 8: z = 156 B Y SATH 1 AR AT 0.4406 B, Z = 0.33 = 01293
2, Z =129 = 04015 2] ©(9)

Gﬁaw-wmmvhaﬁaﬁalé}wﬁﬁwaﬂ%ﬁvﬁﬁﬁﬁaam
T IYANT T 2 )

WS 30, fwmn 15, ®92 10, $ue 20, ARy 25, 2018 - 2023 I A & PRwy,
aﬁw-mmmmo%wzosg}wummﬁ m%m

gfe .

- & so, w9 160, $u 85 3tk AR 180 T g3 St S ¥ wiee aRags

w27 | ; | (9)

T WRE F ST TR W O F, R e R @ FER T H
W 2, R Sl R 4 =R (5 3 Q) aﬂtmﬁ'ﬂmosmﬁm%lﬁmﬁ
Wi Wew 3.5 R ¥ Flrw Wewr 2 7

lﬁm‘ﬂm% Hm‘hz-osa‘aﬁmmaﬂwoms% Z = 1% fw 0.3413
2] e (s)

mﬁm%waﬁmaﬁﬁwwquﬁmm%mm
fareweor ae=r fareror w2, : » (4)

oy

(30,000)
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["'This'question paper contains 24 printed pages.]

Your Roll No...............
Sr. No. of Question Paper : 874 I
Unique Paper Code . 2412092302
Name of the Paper | . Financial Management
Name of the Course : B.Com. (UGCF)
Semester : HI, DSC
Duration : 3 Hours = Maximum Marks : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions.

3. Use of Simple calculator and Table of .PV/FV is
permitted.

4. Answers may be written either in English or Hindi;
‘but the same medium should be used throughout the
paper. |

BE & fow A3

1 wm-w%ﬁaﬁﬁmﬁqwﬁtﬁ&awﬁw
Wﬁrﬁam |
| iR R TR P10,
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2 mﬁmaﬁﬁm
A ,.mﬁmaﬂtﬁﬁmﬁmﬁﬁmﬁwﬁ
s AN

. wm-wmwmm@amww#m,%
T I F A T B AR |

1. (a) “Financial Management is concerned with the
solutions of three major decisions a firm must
make, the investment, the'financing and the
dividend decisions.”. Explain this statement
highlighting the inter-relationship amongst these _

decisions. ' | (5)

'(b) Mr. Mohan has got huge amount of his salary
arrears. He wants to invest some of his arrears
for the purpose of higher studies of his children.
He requires Rs. 1,50,000 \for his son and
Rs. 1,70,000 for"his daughter after 5 years and 7

iyears respectively for the purpose. Find out the
amount of deposit that will produce' these future .

cash inflows if inv.ested @.10% p.a. (4)

OR

S TERART HWW
W sigiin) CLAOE LBRLRY
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(a) Explain Profit maximisation and Wealth maximisation

_ goals. Which of these, in your opinion, is more

effective for financial decision-making? )

(b) Pranaya plans to purchase a new mobile phone in
5 years, and the expected price of the phone at
that time is Rs. 100,000. Given an annual interest
rate of 8%, how much should Pranaya invest today -

to reach this amount in 5 years? : 4)

2. (a) Briefly explain the various discbunting techniques

to evaluate capital budgeting.proposals. ~(6)

~(b) R.P. & Sons Ltd. is considerihg repla'cing- one of
its existing machines, which is currently valued at
34,00,000. The machine can be sold at its book
value of 90,000, and it has a remaining useful
life of 5 years, with no expected salvage value. It
is being depreciated at a rate of 20% per annum

" using the written down value method. The new
machine, which costs ¥4,00,000, can be sold for
¥2,50,000 after 5 years, when it will no longer be
needed. It will be depreciated at a rate of 309
per annum, also using the written down valye
method. The new machine is expected to result jp .

annual savings of ¥1,00,000 in manufacturing Costs

P.T.Oo
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. The company operatés in a 30% tax bracket, and
the required rate of return is 10%. For this
analysis, tax on the gain or loss from the sale of
the asset can be ignored. Should the company
replace the existing maéhine with the new one?

(12)
OR"

(a) When do NPV and IRR give conflicting rankings
in capital budgeting? Explain with examples. '

L . N

(b) A company requires an initial investment of
- 340,000. The estimated net cash flows for the

next 10 years are as follows (in ):

Year |1 2 3 4 5 6 7 8 " 1|9 10

.| Net
Cash | 7,000 | 7,000 | 7,000 | 7,000 7,000 |8,000 {10,000/ 15000| 10,000 |4,000

Flow

Using a discount rate of 10% per annum, calculate -
the following : |

(i) Payback Period

(i) Net Present Value (NPV) . (12)
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3. (a) Shy ft Ltd. has the fdllowing book value capital
structure : S

(i) Equity capital (Rs. 10 per share) :
Rs. 20,00,000

(1) 12% Preference shares (Rs..IOO per
~ share): ' - Rs 5,00,000

(1i1) 10% Debentures (Rs. 100 each):
| Rs. 10,00,000

(iv) 11% Term loan : Rs. 5,00,000

The next expected dividend on shares is Rs. 3 per
~ share and is expected to grow at the rate of 6%.
- The market price per share is Rs. 30. Debentures,
redeemable after 6 years, are selling at Rs. 80
per debenture. Incdme tax is 40%. Compute the
- WACC using market value proportions. 9

(b) Haldiram Company Pvt Ltd provides the following

data :
Particulars ' . Rs.
 Sales: ' 4,00,000

» Less: Variable cost (40%): 1.60,000

‘e Contribution: : 2,40,000
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* Less: Fixed cost: , L&QQ_Q
* EBIT: 80,000
* Less: Interest: 20,000
+ EBT (Earnings Before Tax): 60,000

Find out:

(1) By what percentage will the EPS increase
if EBIT increases by 6%?

- (i) By what percentage will EBIT decrease if
sales decrease by 10%?

(1i1) By what pércentag‘e will the EPS increase
if sales increase by 15%? 9

(¢) What are the assumptions of MM theory? Explain
Modigliani and Miller’s Proposition I without taxes.
How does capital structure affect the firm’s ‘value
in this proposition? - (9)

"OR
(a) Chaos Pvt Ltd has the féllowing capital structure :

(i) Equity Share Capital (Rs. 10 each) :
' Rs. 15,00,000

;cm'mi eoxmm LIBRARY .
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(i) 11% P reference Share Capital (Rs. 100
each) : Rs. 12,00,000

(iii) Retained Earnings: .  Rs.20,00,000

(iv) 15% Debentures (Rs. 100 each) :
Rs. 13,00,000

The expected dividend on equity shares is Rs. 7.20
per share. The dividend is exi)ected to grow at
7% per -annum. The market price of the share is
Rs. 60. Preference shares are currently. at Rs. 75
per share, and are redeemable at par after 10
years. Debentures are selling at Rs. 80 per
debenture . The income tax rate is 40%..Calculate

the WACC using book value weights. -(9)

(b) Distinguish between Operating and Financial
Y leverage. How are the two can be measured?
Examine the significance of combined leverage in

the financial planning of a firm. "9

i (c) ZAomato Ltd & Swiggy Ltd provide the following

information.

Fifer<t wefdenag qRIGIeR P.T.O.
[KALINDI COLLEGE LIBRARY
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« Zomato Ltd:
o EBIT : | ~ Rs. 2,25,000
0 15% Debt : | ~ Rs.5,00,000

0 Ke (cost of equity) 20%

* Swiggy Ltd;

o EBIT: : Rs. 2,25,000

o Ke (cost of equity) 20%

(1)

(i1)

(111)

Calculate Ko (overall cost of capital) &
value of the firm using the Net Income
Approach (NI) for Zomato Ltd. & Swiggy
Ltd. |

If the Zomato Ltd. fncrease total
Debentures from Rs. 5,00,000 to Rs. 7,00,000,

 what will be the effect on the value of the

firm and ko (overall cost of capital)?

Swiggy Ltd raise the extra funds 15%
Debentures of Rs. 3,00,000. What will be
the effect on the value of the firm and ko |

(overall cost of capital)? (9)

. e wEIfdERTd JRIGTery
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4.

9

(a) Write short note on following :—

(1) Stability of dividend

. (ii) Gordon’s Model | . (6)

(b) Mahalaxmi Ltd. has 50,000 equity shares of
Rs. 100 each. The shares of the company are .

currently quoted at par in the market. The company

proposes to pay dividend of Rs. 7 per share at the

end of current financial year. It belongs to risk

class having estimated capitalization rate of 15%.
Using MM model.

- (1)

(i1)

(iii)

Find the price of company’s share at the
end of the year when dividend is paid and

when it is not is not paid.

Also find the number of shares that must
be issued if company needs Rs. 6,00,000
and it expect to make net income of
Rs. 4,10,000, when dividend is paid and

when it is not paid.

Prove that the value of the firm is not
affected by its dividend decision of the firm
using information given above about
Mahalaxmi Ltd. | (12)

| ) TR R
* KALIND{ COLLEGE LIBRARY 10,
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10

OR

(a) Explain the MM approach of irrelevance of
dividend to the value of firm along with its

limitations.

(6)

(b) The Following information is collected from annual

report of Vivan Ltd.

Earnings of the firm . Rs. 8,00,000
No. of Equity Shares 2,00,000
Return on Investment 15%

Cost of Equity : 10%

(i) What would be dividend per share using

(ii)

)

Walter Model, if we want to keep share
prlce at Rs. 45?7 Also compute Dividend

payout ratio?

What will be optimal dividend payout ratio
and Market price at optimal d1v1dend payout

ratio.

What will be Market price at 100% dividend
payout ratio. Also analyse the impact of
change in Dividend payout ratio op
market the price of shares in the above

question. (12)

mﬁﬁﬁmm
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5. (a) Explain the different approaches for financing
working capital requirement. (6)

(b) M/s Ahuja provides you the following information.
Estimate the net working capital required for the

project,

Estimated cost per unit ; Amount
of productlon (in Rs.)
Raw Material : 60
Direct Labor 20
Overheads (including depreciation R, 20) 40

Total Cost 5 120
Additional information :—
(1) Selling Price Rs. 150 per unit.

(ii) Level of act1v1ty 20,800 units of productlon
per annum.

(i) Raw Material in stock — Average 2 weeks

(iv) Work in progress (assume 60% completion

stage in respect to conversion cost apd

. 100% completion in respect to materials)
average 2 weeks.

KALINDI COLLEGE LIBRARY .
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(v) Finished Goods in stock — Average 3 weeks

(vi) Credit allowed by supplier — Average 2
weeks :

(vii) Credit' allowed to debtors — Average 4

weeks

(viii) Lag in payment of wages average 1.5

weeks
(ix) Cash at bank is expected to be Rs. 30,000

It may be assumed that production was evenly
carried out evenly throughout the year. 20% output
was sold on cash basis. Add 10% to your computed

estimate to allow for contingencies. (12)
"OR

(a) What are the different costs associated with

accounts receivables.

(b) Explain the concept liquidity and profitability trade
off in working capital management

(c) What do you mean by credit policy? Also mention
the Benefits associated with receivables

(d) Explain the concept of operating cycle. (18)

) AT JRIGTery
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L (%) “Beia weom @ v fokdl & e 3 wake 2

W W W A afe, PR, Rt sk @i

- B Rl @ e simw-wEw @ IR '@

T T &UT N e S . (5)

(=) fN AT N ITD I a@ A T8 oA WA 78

(%)

178 IR T A ol ¥ A g W P sy
T o I A & R wwT w2 98 @ B
& fom @ saésﬂrﬂﬁakmaﬁ'ga%m
1,50,000 T IR FTH I D B 170,000 T AN
FEEFHAT 31 98 WA SFA A g et 10%
it wRes @ w A PR A W R @
YaE & IR SO (4)

Jreran
ma&mﬁwaﬂzmﬁ&mﬁw'mﬁfaﬁw
aﬂﬁmmmaﬁmﬁ,ﬁ%aﬁa-mﬁ%ﬁaﬁvhw
Fftrs w27 i 13 5 (5)

W 5 G A T A9 AAEA B @he H Ao
o @1 2, 3k 39 A B Sl aﬁrm_aﬁﬂmoo,oop
T B 89, A A WIS R W @ Y, 5 N
¥ 77 U o T @ T R A I e fa

T 'v:ﬂ%q? (4)
mw ERR
'KA’ W’)X mvfmw P.T.O.
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2. (%) TN w9 TR W e @ @ e v 95
R w e ¥ e @R (6)

(@) FT @ WA ¥ ¥ v # gee W RFER H @
2, forst 5a A ¥ 4,00,000 21 FEHT Y 190,000
® T Y@ W AN o A 2, AR T@H 5 AA A

IR a2, fred @ sEfne g T 2
o ea vefy =1 Swdhr w@ @ 20% Ty H
W Y TeaEE A W @ 21 14,00,000 F AR Al
2 W H 5 G 91 2,50,000 T A AW S FHT
2, v T W T8 @ WM T 30% W 9 @
W ¥ Toge@ Foar W, foles ¥ wefa & W
IR ) A w9 & e @R ¥ 1,00,000 B
. Y ¥9g B N INNE 81

FIN 30% F D TR A A B, IR wRwa =
FEATE T 10% Bl 30 Fower @ R, qofy @
A ¥ o A1 B W DB AR B o wFHar
2w wE A A T R A AT T
=g ? ' | (12)

- 3t

(%) NPV sl IRR goft a0 ¥ et Rt v oy 23
¥7 e AfRq @ FOT (6)

mmmmmm
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(@) & & F 140,000 B URME AW H FEEEHA
Bt 31 e 10 99 F R FFART g€ TS T9E
T yar & (A ¥): -

1 2 3 |4 |5 |s 7 . |8 9 10

5343

7,000 | 7,000 | 7,000 | 7,000 7,000' 8,000 | 10,000 | 15,000 | 10,000 | 4,000

wfa af 10% & ST R H I A §Q, FefafEa
& TET FHRwe |

(i) T T s

(i) Fae s =@ (NPV) | (12)

a3 (%) Shy ft Ltd. ¥ fefoRe @ 40 o & 2
(f) TR Tt (10 T W W) : -20,00,000 (30

(i) 12% a&wﬁf R (100 T AR W) :
e 5,00,000 T

(iii) 10% ¥R (100 T wi):  10,00,000 A
(iv) N% Fad wO: 5,00,000 TR

TS AT T,
KALIND] COLLEGE LIBRARY o
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IR W I T e gy MR 3 B AN 6%
RN WA TN N I 2,9 IR AR I 30 T
21 6 T e A R go T AN RIW W RE
R HAF 40% B1 AR A FITE BN ITA

& WACC & e #afmw) - (9)
(@) T @ Tk ffs e o T
S 400,000
* HQ : wﬁa-cﬁm (40%) : o . 1,60,000
. s 5 | 2,40,000
. TG : FuiRe ww | " 1.60.000
« EBIT: | 80,000
-, TR | 20,000
* EBT (W @d sm): 60,000
| wifee:

(i) afR EBIT ¥ 6% A & N ? A Epg 3y
e wfewm & gfe Bni?

Fiferar AEIdeRAd
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R IR W 7.20 T wRy FR H qww BT B
IHT B AW AR A 79, @ W A TG N I

31 N & AR WT 60 T B FNAER IR IA

75 T WY I W T 3k 10 A AE TR WA W
meélﬁhao@uﬁmmﬁ?ﬁ

@R ¥ FEE W W 40% B T [E W H ITA
@ WACC &t TvFr Sif! AN ()
(=) e v P e ¥ g T AR A B
DY W o T 27 v v A R Ao § 99
IAET B WEE W o oW (9)

() Zomato Ltd & Swiggy Ltd &N frafafaa wma

e Zomato Ltd:
o EBIT: | . 225000 T
0 15% =I: ~5,00,000 T
o Ke (zRdt &t @rd) T 20%
« Swiggy Ltd: - | | |
o EBIT: | 2,25,000 TR
o Ke (Eﬁ’a'a i W) 20%
Fifer] FREIIAad YRIGey
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() Zomafo Ltd. & Swiggy Ltd. & fer@ fAaer
s gReAW (NI) @ I & T B
Ko (T ! wmr wmm) ok wea @ o
|

(i) afR Zomato Ltd. Fer Ra=d &t 5,00,000 T2
¥ qerh 7,00,000 T & o1 2, A BH AR
7 (I N 5 ) D @ W T

g3 ’? |
(i) SWiggy Ltd 3,00,000 T B 15% R¥FR W
FRARTFT e Jert 31 w4 R Ko (Y0 o &
ANE) & A W RN YHEG TGS 7 (9)

i (%) PeRRm w wRe R PR -
() i A R
(i) WET & Aew (6)
(|) TEEER e & T 100 T B 50,000 ¥ J
%’l&fﬁ%ﬁmmﬁ'mimwmm
W?lﬁﬁ%a@ﬁaaﬁ%mﬁwﬁﬁm7@
1 AV X =Ty A 81 qE 15% W FAR

m weifeened W‘ P.T.O.
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et AR SR ¥ e 21 v A
Iw@anr EHfe) : |
() € B ¥ ¥ T @ B A FoE AW BT
| mmmwmm?'aﬂimm
W A8 B s 2

(ii) T w T 6,00,000 T R sraTae 8 AN
NI TSI Y W o e e
TR W 4,]0'000@ﬁ§3_mmmﬁaﬁ
e 2, 9 10 g W 9o I ASA A
HIFTI | | |

(iii)ﬁamﬁ:mﬁmwymﬁﬁﬁ'
& W ¥ IR A TE TP I HR

i & o fig ¥ wle 7€ A )
(1)

st

(@) TR Y W TR T AN S R aon
| @@ AR W TWE HT ' . (6) -
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(W) Praw e < e foid & Prefror el A1
g ]
W IO - 8,00,000 T7d
R I A w=- 2,00,000
Pw w s ¥ 15% .
IS A W 10%

(i)m‘ﬁgﬁmmmuﬁﬁmmﬂmw
m,HQHMﬁ.m4smﬁmm'
T F7 T s A W e
wiferg?

(ii)mmwaawmsﬁrsw.m
WA FU W 96K q09 F41 89m

(iii) 100% m e LURIC WWW‘F‘IW‘
BN Iad 79 A W FRE B GOR W
VY A FE X IR B o w R
e =) (12)
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5 (F) AT GO N FawEwar @ fAeawn & e R/t
SRR 0 = FHfw (6)

(ﬁ)wmmﬁwﬁrﬁaﬁmﬂﬁmméu
Rae & oY smavas fad sded go & JTAA

MY

AT AN IqE"H FH - afa
i o (= )
H AA ' | .60
T AE Hqoigd . 20
Haes (20 T & FeagE 4fed) 40
FA AWE 120
FfaRea I=ad -

(i) fsra #=g 150 T 9 gRe

(ii) forarerely &1 wIE IET St 20,800 I wla
EL]

(iii) ®Teh F oA el - Aeq 2 qaE

wifer) FefdRnad JRGes
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(iv) T Wit w & (v oo @ @9 X 60%
i RO 3R awrlt @ dau A 100% ok TR0
= Ae) a2 g

(v) €% ¥ daR W - a9 3 qaE

R o VP —

(vii) 3R R T B R - e 4 T
- (viii) W9 B WA A aﬂwéw'iémm.m
| (ix)%#mso,oob'wa%ﬁanﬁa%

& A S Fhe B o Ieare Q@ af v w7 ¥ R
T M 20% TG AR HER W A o B
mﬁﬁmﬁ%mmmm
# 10% e AR (12)

e
(*)wﬁﬁmWﬁ%@ﬁﬁwmwﬁy

(|) Wﬁ@aqsﬂwﬁmsﬂtmm
AT AU B W )

oY wrfdaner qRIgTer " P.T.O.
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() *Re difed ¥ T T TR 7 W AN A T2
aW & W I i

(9) ¥ Ow @ FFuRem Fy wee Sl (18)

5
o

IR TPRTd RGTery (0,000
KALINDI COLLEGE LIBRARY



[This question paper contains 8 printed pages ]

Your Roll Ny

Sr. No. of Question Paper: 876 I
Unique Paper Code : 2412092303

Name of the Paper * : Principles of Marketing
Name of the‘ Course : B.Com. (P)

Semester ‘ : III - UGCF - DSC
Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all question, all questions are compulsory.
3. All questions carry equal marks,

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.

Bl @ fog fdm
I W -w @ R @ 9R R v fuiRe e w s
S forfeae |

P AR G
KALINDI COLLEGE LIBRARY 4 P.T.O.



876 z

2. mﬂma?rﬁw:mﬁﬂﬁmi'

3 Wi FmwmEl

4. T V- IR Sden a1 B B v o A e ey
a0 I w1 A g 6 A AR |

1. (a) Explain the niarketing mix for services. How do
the additional Ps play a unique role in service
industries like healthcare and hospitality? (3+6)

(b) What do you mean by marketing environment?
Explain the various forces that influence the
marketing environment? | | (2+7)

OR

(¢) Compare and Contrast Skimming Pricing and
Penetration Pricing. Provide examples of products
or companies that use these strategies. )

(d) How does the Societal Marketing Concept differ
- from the Marketing Concept? Provide examples.

©)

2. (a) Why is it important for businesses to study
consumer behaviour? How does information search

and evaluation of alternatives stages influence the
final purchase decisjon? (4+5)

~ KALINDI COLLEGE LIBRARY
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(b) Explain the concept of product positioning and its
role in distinguishing a product from its
competitors.. Provide examples of successful
product positioning. g (9)

OR

(c) Discuss the concept of market segmentation and
explain how it helps companies in targeting specific
customer groups effectively. (3+6)

(d) What are the primafy factors that influence
consumer buying behaviour? Briefly describe each
factor. | 9)

3. (a) What is meant by ‘Product Mix’? Explain its
dimensions with suitable examples. (2+7)

(b) Explain the concept of inventory management in
distribution logistics. . 9

OR

: (c) Explain the functions of packaging and labelling in
“the context of product marketing. 9)

(d) Explain the stages involved in the New Product

Development Process. 9)
KALINDI COLLEGE LIBRARY,  p T.0.
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4.

(a) What do you mean by pricing? What are the mais
factors that influence the pricing of a product?
| (2+7)

(b) Suppose you are 2 marketing manager of a
company that produces eco-friendly products. How
would you implement sustainable marketing
strategies to appeal to environmentally conscious

consumers? Provide examples. (9)
OR

Discuss the different levels of distribution channels.
How do intermediaries (wholesalers, retailers)
contribute to the distribution process? Explain the

different functions performed by the wholesaler.
(4+6+8)

Write short note on any four of the following :
(4x4.5=18)

(a) Integrated Marketing Communication

(b) Digital Marketiﬂg

(c) Non-store.-based Retailing

(d) Selective Distribution

(e) Significanﬂc':e of Rural Marketing in India
KALINDI COLLEGE LIBRARY
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5
(%) hﬁ%ﬁqﬁwﬁﬁwaﬁmmlmﬁ
IR e Iy dmr s A SR Ps Py
S Az s v 27 (3+6)

(|) RO e & s s 27 RO Ao
ﬁw&awa@ﬁﬁwmaﬁmﬁfm?
| (2+7)

1)

(1) fewfiT v P sk wWw g Fukor @ g
FoYI 3 WA & ITENT R q IR @
HAEAT B ISR Y& Fifow| - (9)

(w) arnfores fgue Sqamen RUoer sEaren ¥ fFe waR
et 37 Semr wem #f@ ()

() v & forg JTAEE AR S w w@
wEwql 37 ga @ S BT ROl 1 e
T @ie B @ e TER wwifde wear 27

(4+5)
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(@) werr foufd A T IR B T R e
shrefidl @ S T H TR P R
a‘aﬁmm'mf@lﬁ%mmm,
(9)

A
() o T # SO T S e i 78 T |
i 77 FaRa @ Rt TEw wE @ I T A
a&awﬁﬁ’ﬁmm_mm%u (3+6)

(%) maﬂamaﬁwﬁaaﬂ%aﬁm[
e w ¥7 s FRE w1 wd F o A |
| (9)

3 (@) ‘Fere sy’ @ o 87 Jugad IECH B I
WD IR o @R F (2+7)
(@) faa wifsieees ﬁﬁﬁmﬁmﬂﬁw@'

g () |
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M) I R & wnt ¥ i S AT @ ] o

(%) Wmmﬁma.m?fmaw?faﬁmﬁml
| (9)

4 (F) T P 3 s s 27 B e @
T R iR WY T [ e wm
&7 S T (2e7)

(=) Wﬁﬁvﬁ%m‘w@m%ﬁqﬁm%‘

R TR R I I TR 2 v @ g
: Gmnar@m#ﬁmﬁiﬁém$ﬁaawﬁﬁ§ﬁmwmqahmﬁa
mmﬁﬁwm?mm
i | . (9)

a1

R el @ e ) W oo A woe (9
e, wew ) Rew B ¥ S} e =@ ¥
%mmmmﬁmﬁﬁﬁwmaﬁW‘

% Fifoe B e (4+6+8)
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2.

3

Wqﬂﬁﬁmﬂ'ﬂ%ﬂww%mgl

< WIT - memm%ﬁ%@wwﬁw
et IR T AT T B B =AY W

(a) Define the tem'l ‘Offer’. Explain the |egy) tules
regarding a valid offer. )

(b) “All agreements are enforceable by |ay 5,
contract”. Discuss the statement explaining the

essentials of a valid contract. (9r
OR

(a) “An agreement without consideration is void” what

are the exceptions to this rule? 9)

(b) Define coercion. How does coercion differ from

undue influence? 9)

ﬁﬁ)“mma’wazﬁtﬁwﬁmiﬁﬁwn%awaﬁW%#mxﬁ
HF oA &t e Sl

(@) “wﬁimﬁészwamsﬁ#ﬁu%3W$3@*1%”3”
amﬂ:é?aﬁmﬁmﬁféivmraﬁ#aﬁaqut?ﬁ
HifoTq|

FIRSY fdenerd gwsm
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a1

(&) “vhrwea @ fmn 9% N wEia 1w 27w R @

e o1 & 7

(@) Vaweed =) i Hfw dEEE g e @
Y ey 27

2. (a) State briefly the various modes in which a contract

may be discharged. (9)

(b) Explain “Doctrine of supervening impossibility” in

detail. 9)

OR

(a) “A stranger to a contract can not sue “ Comment

on the statement giving exceptions, if any. (9)

(b) X buys from Y a painting which both believe to
be the work of an old master and for which X
pays a high price . The painting turns out to be

only a modem copy. Discuss the validity of the

contract. 9

FfoS wEfdeRad JRaed P.T.O.
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(%) #mﬁﬂﬁﬁ?aﬁaﬁWaﬁ?%ww
aﬂa‘umﬁﬁ'ﬁrmwm%n

(@) “ovEan @ e’ w1 famr J W
q1

() “aﬁﬂ%mﬁmwﬁﬁﬁmqﬁﬁ
m”uﬁaﬁiﬁ,ﬁrm%ﬁgmwm
il ¢

(@) X, Y ¥ vw ¥ wlear € @ o v qu AR
F @ AR ¢ IR ea e X & S and
W%Wﬁﬁﬁfwaﬂgﬁﬁﬁﬁﬁwéﬁ%laﬁa‘a
& Juar W TA IR

3. (a) What do you understand by void agreements?
What are the various agreements which have been
expressly declared to be void by the Indian

Contract Act? 9)

TR e JRaTe
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(b) Z, a minor fraudently representing himself as
major, takes a loan of Rs. 50,000 for the marriage
of his sister from Y at 8 percent interest. Can B

recover the loan and the interest? (9)

OR

(a) Distinguish between specific performance and

Injunction by giving suitable examples. (9)

(b) Explain various types of damages that an

aggrieved party may claim on breach of contract.

9
() 3T I Gl ¥ T w87 9 v st @

2 R wdig sy sftfaw g | w0/ I
ufte fear @ 37

(@) Z, T Amifert 2, S 2 A | F T H w9 A
WA IA 2, E I T M WA R v Y ¥ 8
9T =T W 50,000 A T HU ol 21 T B

0 3N & agd W aEd 87

q1

; P.T.O.
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() STgE Jeww A fafie oAt IR Fiumn 2§
FAR Hifm)

(@) 37 =T gorR & FHaml A T Fw R o

AT 98 @y & IJeoiud W Al W FHAT B

4. (a) What is a contract of guarantee ?What are its

special features? 9)

(b) Explain the rights of a surety as against the

principal debtor, creditor and co-Sureties. 9)
OR

(a) How does bailment differ from sale ? Also explain

the duties of a bailee. 9)

(b) Explain characteristics of bailment in detail. Also

state how bailment differ from pledge? %)

(F) TRE 1 sy T 27 EE fdw e @@ 27

(@) %= =M, aeR 3K 98 - TFEeR) & fAeg SHHaER
F IUER 9 Frer S|

PIfe) weIdeiad JRGId
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Haar

(F) v feR @ e yom e 22 a & o @
Faal @ =ARAT FHivw)

(@) TEE il faRvasy N R A s Dfw @

8, 98 N T fF wwee RS ¥ frg wer BT
27

5. (a) What is a contract of agency? What are the
different kinds of agents? (9)

(b) Discuss the extent of principal’s liability to third
parties for the acts of the agent. 9

OR

(a) Describe the rights of the agent against the
principal. %)

(b) What are the essential and valid rules for a valid

agency? Is consideration necessary to create an

agency? %)

Fiferd TERNaE YRS R.T.O.
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¥

(@) e D T R frg AR TH B A BRI A 3y
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S019 2
previous year 2023-24, Mr. Somesh, citizen of Bangladesh whose

I @ During the .
parents and grandparents were born in Myanmar, stayed in India for just 99
days. Determine his residential status for the assessment year 2024-25 based
on the following information :

(i) His stay in India during preceding previous years were as follows :
Year [ 2022-23 [ 2021-22 | 2020-21 | 2019-20 | 2018-19 2017-18 | 2016-17 | 2015-16
~ 1 = 2 L 58 70 16 182

(i) His spouse, Mrs. Somesh is ‘ROR’ in India for the assessment year

2024-25. (6)

“Income of the previous year is assessed in the immediate succeeding

(5)

(b)

assessment year”. Give exceptions.

OR

(a) Mrs. Roma, an Indian Citizen, is an employee working for the Indian

Government. She submits the following information for the previous year

ending 31.03.2023 :

() Salary income received in Malaysia for services rendered there

Rs. 200000
(i) Profit from business carried on in Orissa Rs. 80000

(iii) Profit from business carried in Paris (income is earned and received in

Sydney and business is controlled from Paris) Rs. 42000
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(®)

3

(iv) Business income in Canada Rs.16000 (controlled from India)

(v) Profit from Indonesia business (60% of profit deposited in a bank in

Indonesia and 40% of the profit i.e., Rs. 70000 received in India.

(vi) Rent from house property situated in Canada and received in Canada

Rs. 192000

Determine the gross total income of Mrs, Roma for the A.Y 2024-25 ignoring
the provisions of section 115BAC on the assumption that she is: (1) ROR
in India (2) Non-resident in India. (6)

Definition of the term ‘Person’ as per Income Tax Act. (5)

Mr. Prakash works as a marketing manager at ABC Ltd., and receives the

following components of salary during the previous year 2023-34.

1. Basic Salary Rs. 800000 per annum

2. Dearness allowance Rs. 200000 per annum (part of salary for retirement

benefits)

3. Transport allowance Rs. 5000 pm (He spent Rs. 30000 during the

previous year)

4. Helper allowance Rs. 8000 per month (He spent Rs. 6000 per month
by way of giving wages to a helper)

5. House rent allowance Rs. 150000 per annum, He paid rent of
Rs. 18000 per month for house in Delhi.

‘‘‘‘‘‘‘
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4

Employer company provided ga car facility (1.8L engine) for personal
6. m

4 office purpose both. All expenses are paid by the employer.
an

5 Lunch coupon worth Rs. 100 each for 200 days during the previous
year 2023‘24-

g. Gift of a wristwatch worth Rs. 4500.

9. Contribution towards Recognized Provident Fund Rs. 10000 per month
by both.

10. Interest credited on accumulated balance of recognized provident fund

@10.5% of Rs. 50000 during the previous year.

Compute his taxable income for the assessment year 2024-25 as per old tax

regime. (6)

(b) Explain the provision of perquisite in respect of valuation of interest free

loan. 5

OR

(@) Mr. Dheeraj retired from Fast Forward Company Ltd on 31/10/2023 after

serving 25 years 4 months. He furnished details on his income for the previous
year 2023_24_

L. Basic salary Rs. 50000 pm w.e.f. 01/01/2023.
2. DA R, 10000 pm (60% considered for all retirement purposes)

3. Lunch Allowance Rs. 2000 pm.

& g
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4. Gratuity (not covered under Gratuity Payment Act) RS- 600000,

5. Leave salary at the time of retirement Rs. 600000. He was entitled for
35 leaves for each completed year of service. He availed 510 leayes

during his service.

6. Pension of Rs. 20000 pm w.e.f, 01/11/2023. He commuted half of the
pension w.e.f. 01/11/2023 and received Rs. 800000.

Compute his taxable income under the head salary for the assessment year

2024-25. Mr. Dheeraj opted for old tax regime. (6)

(b) Explain the provision of perquisite in respect of valuation of rent-free

accommodation. (5)

3. (a) Mr. Sahil owns three houses which he occupied for his own residence. He

submits the following particulars in respect of these houses.

Particulars H-1 H-2 H-3
Nature of house Self-occupied | Self-occupied Self-occupied
Municipal value (Rs.) 220000 240000 300000
FRV (Rs.) 2300 270000 240000
Municipal taxes paid by Mr. Sahil 18000 24000 30000
Interest paid on loans taken for construction 120000 150000 130000

Compute his income from house properties under old tay regime

(6)

T o JEE
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5019
(gin p,-ovision to calculate business income on presumptive basis under
(b) Expla : ; :
Gn 44AE of the Act 1n respect of playing, leasing and hiring of goods
sectl
carriages- )

OR

(a) X Co. Ltd has block of building (rate of depreciation 10% p.a.) written

down value of which as on 1* April 2023 was Rs. 2550000, This block
includes building A, B and C.

» It bought a new building D on 15/5/2023 for a sum of Rs. 600000 and
“put to use” on 10/11/2023.

» It bought another building E on 06/06/2023 for a sum of Rs. 900000

and ‘put to use’ is the date of purchase itself.
» It sold building C for a sum of Rs. 1900000 on 1/3/2024.

Compute depreciation of the block as per section 32 for the previous year

2023-24. (6)

(b) Explaip deduction u/s 24(b) regarding interest on borrowed capital loan

(inc]uding Pre-construction period) amount. ©)

4. @ Mr. Manisp transferred following assets during the previous year

2023.94

o mm b bl
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(b)

e ] Gold
. House Urban Agriculture
Particulars Property Land | Ornamentg
Date of purchase 2006-07 1998-99 1/4/2021
L —— e —

Cost of acquisition 800000 1200000 500000
FMV as on 1/4/2001 = 1500000 =
Cost of improvement (2012-13) 250000 50000 B
Date of transfer 01/05/2023 01/09/2023 01/01/2024
Sale Consideration 3200000 4000000 850000
Stamp value 3500000 4500000 -
Expenses on transfer 100000 100000 20000

Mr. Manish bought a new house on 28/02/2024 for a sum of Rs. 3000000

and agriculture land on 15/04/2024 for Rs. 3500000.

Compute his income from capital gains for the assessment year 2024-25.

CII: 2001-02 = 100, 2006-07 = 122, 2012-13 = 200, 2021-22 = 317,

2023-24 = 348.

(6)

State the provision of section 54EC to claim exemption against capital

gains.

Fifera AEfRnas
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S019 |
submitted the following 10

formation.
(a) Mr. Ranveer (40 years)

e Amount (Rs.)
SN Particulars -

—(i-)——— Income from Salary (computedL’— 925000
(i) | Loss from house properties (20000)
(i) | Gift from father 100000
(iv) | Intereston Bank Deposits (net of TDS @10%) 64000

15000

(v) | Interest from saving bank

: Gift of a silver chain from a friend. Fair market value Rs. 200000.
(vi) Mr. Ranveer paid Rs. 20000 for the same.

(vii) | NSC (VIII Issue) purchased during the year 140000
(viii) | Deposit under Sukanya Samriddhi Account 55000
(ix) | Capital gains on sale of personal computer 28000

Compute his taxable income and tax liability for the assessment year 2024-

25 if Mr. Ranveer opts for old tax regime. (6)

(b) State the provision in respect of clubbing of income of a minor child u/s

64(1A) of the Income Tax Act. (5)

5. Attempt any two from the followings :

(a) Explain any five exempted incomes under section 10 of the Income
Tax Act.

aﬁ%qgmmgmm

'.\l
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®) Agriculture Income and Partial Integration of Agriculture Income.

(€) Mr. Harish submitted following details of his income for the PreVious yeq,

2023-24
() Salary income (computed) Rs. 789000
() Income from house property-1 (computed) = Rs. 167000
(i) Winnings from lotteries (net of TDS 30%)  Rs. 140000

Compute his tax liability under new tax regime. (5.5 marks each)

(®) ftex af 2023-24 & ek, sFERT & TERE i Ay, e Aar-foar sk
TRT- T4 TR X qa 7Y A, RS F RS 99 R @)1 Refaiad wHE @ 3R
W T fAuRor af 2024-25 @ w370 smara Rafy FufRe R .

() o asf & e T ¥ D o@D AU =™ wwR X -

2022-23

2021-22

2020-21

2019-20

2018-19

2017-18

2016-17

2015-16

AT 10

20

360

50

58

70

16

182

(ii) It aoht AP A R fuir 98 2024-25 R R wikg ¥ ¢ smaar’

14

(6)

(@) “fiea ag i a7 = mmamﬁtawﬁuﬁwﬂ#ﬁww%l" ST

EGIECT
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1. (a)
(®)
(©)
d)
2. (a)

2

What is Management Accounting? Discuss in brief the nature and scope of

Management Accounting? | | 9

Write notes on the following with reference to Responsibility-

Accounting : ’ | 9)
(1) Cost Centre
(ii)) Revenue Centre
(i) Profit centre
OR
How does Management Accounting differ from Cost Accounting and Financial
Accounting? | | )

What are the financial and non-financial methods of performance

measurement? Explain with examples. : g (9).

Essel Steel Ltd. manufactures a single product for which market demand
exist for additional quantity. Present Sales of Rs. 60,000 per month utilises
only 60% capaéity of the Plant. Marketing Manager assures that with the
reduction of 10% in the price he would be in a position to increase the sale

by about 25% to 30%. (12)

The following data are available :

Glie<) HEIfdenery ywiaed | )
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(1) Selling Price Rs. 10 per unit
(ii) Variable cost Rs. 3 per unit
(iii) Semi- Variable cost | Rs. 6000 (Fixed + 50 paise per unit)

(iv) Fixed cost Rs. 20000 @ present level estimated

to be Rs. 24,000 at 80% output

You are required to prepare the following statements :
(i) The Operating Profits at 60%, 70% and 80% levels at current selling

price, and

(i) The Operating Profits at proposed selling price at the above levels.

(b) Difference between Performance Budgeting and Programme budgeting?
)

OR

What do you understand by Budgetary Control system? What are the various

steps involved in installing budgetary control system in a manufacturing concern?

(18)

Discuss its advantages and limitations in detail.

(a) H Ltd'furnishes the following information relating to budgeted sales and

actual sales for April 2024 :

FHIES) HEIfAeny RGN
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Product Sales Quantity | Selling Price per unit
Budgeted Sales : A 1200 15
B 800 20
C 2000 40
Actual Sales : A 880 18
B 880 20
C 2640 38

Calculate the follo;ving Variances :
(1) Sales Volume Variance
(1) Sale Price Variance
(ii) Sale Mix Variance

(iv) Total Sales Variance | (12)
(b) Distinguish Between ‘Estimated Cost’ and ‘Standard Cost’. (6)
OR

(¢) 100 skilled workmen, 40 semi-skilled workmen and 60 unskilled workmen
were to work to get a contract job completed within 30 weeks. The standard
weekly wages Rs. 60, Rs. 36 and Rs. 24 respectively. The job was actually
completed in 32 weeks by 80 skilled, 50 semi-skilled and 70 unskilled

workmen were paid Rs. 65, Rs. 40 and Rs. 20 respectively as weekly
wages.

KALIND] COLLEGE LIBRARY
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C))

5

Calculate the following Variances -

(1) Labour Cost Variance

(i) Labour Rate Variance

(iiii) Labour Efficiency Variance

(iv) Labour Mix Variance

(12)

What do you mean by Standard costing? Explain briefly the advantages and

limitations of standard costing as a technique of Cost Control. (6)
XYZ Ltd. has shareq the figures of 2022 and 2023 : (12)
Particulars 2022 2023
Sales (units) 2,40,000 | 2,40,000
Production (units) 2,40,000 | 4,00,000
Selling Price per unit (Rs.) ‘20 20
Variable Manufacturing Cost per unit (Rs.) 12 12

| Annual Fixed Manufacturing Cost (Rs.) 12,00,000 {12,00,000
Variable Marketing and Administrative cost per unit (Rs.) 1.25 1.25
Fixed Marketing and Administrative costs (Rs.) 4,20,000 | 4,20,000

(i) Prepare income statement for both years, using Absorption

Costing.

(ii) Prepare income statement for both years, using Marginal Costing.

= KALINDI COLLEGE LIBRARY
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(b) (i) What do you understand by Break-Even Analysis? Show graphic .

presentation of Break-Even Chart? (3)
(i) What is P/V ratio? Discuss its importance. R )
OR

(c) You are given the following data :

Sales Profit
Year 2023 Rs. 1,20,000 Rs. 8000
Year 2024 Rs. 1,40,000 Rs13000

Find out :
(i) P/v Ratio
(1) Break Even Point
(1) Profit when sales are Rs. 1, 80,000
(iv) Sales requirqd to earn a profit of Rs. 12,000

(v) Margin of Safety in Year 2023

(vi) Margin of Safety in Year 2024 . (12)
(d) Distinguish between Absorption Costing and Marginal Costing? 6)
. Gt whm EIGE
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5. (a) State differences between : ! o « +{12)
(1) Differential costing and Marginal costing.
(i) Opportunity cost and Imputed cost.

(iii) Relevant cost and Irrelevant cost

(b) ABC Ltd engaged in manufacturing two products ‘A’ and ‘B’

A B
Selling price per unit 60 100
Direct material per unit 20 25
Direct wages per unit 10 15
Variable overheads 100% of Direct wages 100% of Direct wages
Fixed overhead Rs. 10,000 p.a " Rs. 10,000 p.a
Maximum capacity 1,000 Units 1,000 Units

Recommend which of the following sales mix should be adopted: -
(i) 300 units of A & 600 units of B
(ii) 450 units of A & 450 units of B

(iii) 600 units of A & 300 units of B (6)

_ OR
T TNy .
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(c)

@

ABC Ltd. whi;:h pr;)duces three products provided the following data for
the year 2023 : ‘
Products

Toys Action games Activity kits
Selling price per unit 100 | 75 50
Profit/Volume Ratio ld% 20% 40%
Sales Potential (units) 40,000 25,000 10,000
Raw Matenal content as .
percentage of variable cost . 50% 50% 50%

The fixed expenses are estimated at Rs. 68, 00,000. The Company uses a
single raw material in all three products. Raw material is in short supply and
the company has a quota for the supply of raw materials of the value of
Rs. 18,00,000 for the year for the manufacture of its products to meet sales

demand.
You are required to : >

(i) Find a product mix which will give you maximum profit, keeping in

mind the short supply of raw material.

(ii) Find the maximum profit. . (12)

Explain briefly six circumstances under which selling price may be fixed at

a price which us less than the variable cost. ' (6)

Ffers) FEfdenerd TROId
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3 T IR SN AR Rl v A g, ey
ol ITA T A T & B ey |

1. (a) What do you understand by Human Resource
Management? Explain various functions of HRM
in the organization. (7.5)

(b) What are the contemporary issues in human
resource Management (HRM) in modern
competitive world and state the role of HR
Manager to cope up with these issues. (7.5)

OR

(c) Explain different HR policies followed in any

organization. How these policies are helpful in

petitive advantage in the market.

etting com
° ° (7.5)

e management (HRM) has

(d) How human resourc HEM
a? Explain the significance

been evolving in Indi

management.
yman resource
and need of h 3:5)
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e wauA % R sl A = AR (7.5)

(|) smyftes wfeenelt gfPar ¥ s darer weiver (HRM)
¥ T R wn ¥ o o & Pae & fre e
WELT FEHE RS 7wl (7.5)

q1

(W) Bl o Wew ¥ s W A R W
garue Ao &t =ren ifse ¥ Aifedt SR o
wloequices 9 W et A &a @eas 31 (7.5)

(a) wra ¥ wg e yeed (HRM) <@ faefea & <@
2?7 W GEUH WU @ Wed 3R ST @t
AT A | (7.5)

2. (a) What are the critical stages in a well-designed
selection process, and how can each stage help

reduce turnover and improve the quality of hires?
(7.5)

(b) What are desirable attributes of an ideal

recruitment process? Explain various internal and

external sources of recruitment process.  (7.5)

ol wafdaed RO . p 1o
KALINDI COLLEGE LIBRARY -
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OR

(c) State the difference between the Job Analysis,

Job description and Job specifications with suitable

example. (15)

(%) v e e ¥ Rome A wE T www ¥ Feag
U T ¥, N TAF WO TANAR WDl HA HA IR
il =t TurEer ¥ GUR FA A DY 79T R FHRA
27 (7.5)

(@) T e W& whhar o Gioia e @ 87 s
e @ e siaRe ik «Ed @l e e
HIfTT| | . (7’5)

at

(1) SIgET I D WA WG gAenaE, e e R
Sig fafFdm & 9= AR TRl (15)
3. (a) What do you understand by performance appraisal

and explain the various methods of performance

appraisal. (15)

OR

(b) How Performance management is essential for any

organization? State modern methods of

Performance appraisal. (15)
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(F) 9 ol AT ¥ 7w F o v DT
T faftrr al=l & = Hko (15)

a1

(@) Bl & weT @ R Wi weu Y A 27
WeI AT & My ade Sail (15)

4. (a) Discuss the process of training needs analysis.

What are the various methods of training?
(7.5)

(b) Discuss Induction and Onboarding process with

examples. (7.5)
OR

(c) How ‘off the job’ training is useful in any industrial
organization‘? Explain various methods of ‘off the

job’ training & ‘on the job training’ (15)

(m)ﬁmm%ﬁqﬂﬁm“ﬁﬁml
m%ﬁﬁﬂﬂﬁ%a‘“%? (7.5)

(ﬁ)m%mmaﬂiaﬁa@rﬁnmwﬁ
ARl (7.5)

P.T.O.



5009 6

1

() ot 8 s < 3 ‘o ¥ S e o
TRt 27 ‘3w 7 s’ 2T SRS 7 St 2y
2 Rt qle o arenr Il (15)

5. Part-1

Suppose you are the human resource (HR) manager
of a reputed company. It is the HR manager’s prime
responsibility to monitor all the issues related to
transfer, promotion and salary revision of employees.
The company has started a new production plant in
one of the most backward areas. The HR manager
has got an order from higher management of the
company that most suitable person should be appointed
as head of the new production unit. On the basis of
merits, The HR team appointed Geetha as head of
new production unit. On many occasions, Geetha has
successfully completed the crucial projects of the
company. Geetha was informed regarding the new
assignment. But Geetha is not ready to accept the
New assignment, as she is not willing to relocate

herself to one of the remotest areas. Her whole family

is settled in the metro city. She is taking care of her

ailing mother. So Geetha has refused to accept this

offer. But the company wants Geetha to accept this

Proposal as the project is a very crucial for further
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expansion of the company. The higher management
wants the HR manager to convince the Geetha for
this assignment.

In this Context:
(a) Discuss the ethical dilemmas involved in this case.

(b) What measures can be adopted by HR manager
to convince Geetha for this assignment. (15)

OR

Part 2

Write short notes on any t\&o of the following: (7.5)
(a) MBO

(b) Sensitivity Training

(c) Succession Planning

(d) Employee Burnout

WW%WWWM%WW(HR)
s &) RA @ A, T SR AT W
hwﬁ,%mﬁ@gmﬁ%wiwwm
. T PR B D B I wT A
v gt fen # R e SO a1 A Ieae g
e e o e B AT ST, T

S % e 7§ gere T PG Fn
P.T.C
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2

(a) Explain the provisions to determine residential status of an individual as per
sectlon 6 of the Act. ! (6)

(b) Following are the incomes of Ms. Radhika for the previous year 2023-24.

SN ~ Particulars Amount (Rs.)
1. | Interest on savings bank deposits in Punjab & Sind Bank, Delhi 120000
2 Income from house property situated in Canada (Rs. 200000 250000
: deposited in a bank in Canada and balance remitted to India)
3. | Dividend income from shares held in Nestle India Co. : 280000
4. | Profit from a hotel business at Melborne, controlled from India 300000
5. | Past foreign income brought to India 100000
6. Interest received from Mr. Andrew, a non-res1dent on the loan 50000
| provided to hlm for a business carried on in India
You are required to compute :
(i) Her taxable income if she is ROR, NOR, or NR.
(i) Her tax liability being ROR under new tax regime. . (12)

-OR

(a) - What is Permanent Account Number (PAN)? State any six transactions where'
quoting of PAN is mandatory. : . (6)

4

(b) Mr. Raman Ray, an Indian Citizen left India, first time on 21 September

2023, for the purpose of employment in Japan. He came back to India on

- 30™ March 2024 for a visit and again returned-back to Japan after staying
for 25 days in India. He submitted his income details as given below for the
previous year 2023-24 ;

a. Salary earned in Japan Rs. 1000000 and credited in a bank account:
in Japan.

b. Interest received on fixed deposiis in Canara Bank in India Rs. 150000,

c. Rent from a property in Vadodara received in India Rs. 600000

.,
“A"‘"D‘ COLLEGE uam'
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3

~d. Interest of a sum of pe <0000 on Japan’s Govt. Bonds. Half interest

is received in Indj,

® Fro.m the above jnformation determine his residential status and
incidence of tay for the Assessment Year 2024-25.

(i) Will your answer pe changed if Mr. Ray left India on October 1,

20237 If yes, then explain.

(12)

2. (a) Explain the tax treatment of Leave Salary at the time of retirement under the
: head ‘Income from Salaries’. (6)
(b) Ms. Asha (age 50 years) is employed in ABC Textiles Ltd as an Accounts
Officer. She furnishes you the following details for the year ended 31st
March, 2024 : i : .
SN Particulars Amount (Rs.)
1. | Basic salary as on 01/04/2023 55000 pm
Increment w.e.f. 01/11/2023 Rs. 10000 pm ‘
2." | D.A. (forming a part of retirement benefits) 40% of basic
3. | Bonus (paid on Diwali in the month of November) 70000
4. | Employer contribution to Recognized Provident Fund (RPF), equal | 12000 pm
amount is also contributed by Ms. Asha
S. | Interest credited on the accumulated balance of RPF @ 11% p.a 33000
6. | Medical Allowance Tt 5000 pm
7. | Children Education Allowance (for two children) 1000 pm
8. | House Rent Allowance ; 16000 pm
(She pays rent of Rs. 18000 pm in Meerut)
9. | Car facility of 1.6 litres (1600CC) engine capacity is provided to her
by employer. The running expenses of the car are met by employer
company. :
10. | Employer company sold following asses 1o her on 12/01/2024 as below
Particulars . Computer Refrigera?
Cost of the asset (to employer) Rs.60000 — [ Rs.20000
Date of purchase of the assets 01/0472020 01/04/2020
Sale price " Rs. 10000 Rs. 80000

KALINDI COLLEGK 1 JBRARY
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871 Y ' red for
: ; : ing she op
Compute her taxable income under thg head salaries, assuming (12)
. old tax regime. |
OR
(a) Elaborate the provisions of unrealized fent while computing '8ross annuzl
‘ value’ of a house property, and its subsequent realization in future. (6)
(b) Mr. Balram, an employee of PK Ltd. at Pune and covered uqder-Payment
of Gratuity Act, 1972, retires on 1* December 2023 (age of 60 years) after
completing 34 years and 7 months of service. At the time of retirement, he
is entitled to a pension of Rs. 40000 pm. He opts to commute his 80% of
pension for Rs. 900000 on 1* February 2024. The employer also pays
Rs. 2051640 as Gratuity and Rs. 500000 as accumulated balance of
Recognised Provident Fund. He also furnishes you the following details for
 the year ended 31st March 2024 :
SN  Particulars Amount (in Rs)
1 | Basic Salary , . fE g ‘ 80000 pm
2 | D.A. (60% is forming part of retirement) ' 20000 pm
3 | Bonus . 5000 pm
4 | Commission - . 2000 pm
5 | Employer Contribution to Recognized Provident Fund 110000 - .
6 House Rent Allowance o
Rent paid by Mr Balram Rs 12000 pm in Pune . 13000 pin
His son is studying in MBA whose fee is paid by the
% employer co. ‘ 120000
8 | Lunch coupon of Rs. 120 each per meal for 180 days -

Determine the income from salaries for Mr Balram for the assessment year
2024-25 assuming hie opted old tax regime. % : (12)

Fer wEfaed JRed
KALINDI COLLEGE LIBRARY
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3. (a) Discuss the provisions of gecyion 44 AE of the Income Tax Act,‘ 1961 reéarding
the computation of income op egtimated basis in case of taxpayers engaged

in the business of plying hiring or leasing of goods carriage. (6)

(b) Mr Ashish (45 years), a resident individual, provides management consultancy
services to various corporate and non-corporate clients. He furnishes the

following information for the previous year 2023-24 .

Profit and Loss Account (as on 31/03/2024)

Particulars : Amount Particulars - | Amount
Purchases . : 200000 | Sales 1500000
Salary, Bonus, Commission ' 200000 | Refund of Income Tax 25000
Household expenditure A 2500 Gift received from father | 20000
Advertisement expenses . . 100000
Office & Administrativg Expenses 15000
Travelling & conveyance expenses 40000
| Income Tax paid o 9000
Provision for bad and doubtful debts 2000
Insurance Premium ' 66500
Interest on loan ~ 15000
Depreciation on assets 45000
Staff Welfare Expenses - 10000
Purchase of a Neon Sign Board 40000
Net Profit | "~ 800000 i
Total 1545000 Total IME
Fifer wefaenerd TRy

KALINDI COLLEGE LIBRARY PTo
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Additiona] Information :

() Salary, Bonus and Commission included-

(2) Salary P#id to brother of Mr. Ashish- Rs. 50000. His brother is

not holding requisite qualification for that job.

(b) Bonus paid to employees on 16" November 2024-
Rs. 30000

() Saléry paid to a non-resident - Rs. 25000 without deducting
- ; ;

(i) Advertisement expenditure included a payment of Rs. 40000 paid
through cash. . |

(iii) Staff welfare expenses include a sum of Rs. 2000 spent on Diwali

celebration in the office for the welfare of staff only.

- (iv) Depreciation computed under section 32 on all assets including sign

board- Rs. 40000,

(v) Insurance Premium included Life Insurance Premium - Rs. 56000 on

Mr. Ashish lifé.

Compute Business Income of Mr Ashish for assesément year 2024-25

assuming he does not want to opt for the Default Regime and due date of -

filing of return is 31/07/2024. ' | (12)
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(@) |

(b)

Rs. 1000000 on 1%

the Act.

7
OR

Mr. A is the owner of ty, buildings (A and B) which are ygeq by him for
his own business. The wriyten down value of the above buildings is
April 2023 and the rate of depreciation allowed is 10%.

He purchased two buildings (C and D) of same rate of depreciation,

information given below :

Building C on 1% August 2023 for Rs. 200000 (date of ‘put to use’ 15®
August 2023)

 Building D on 1% December 2023 for Rs. 500000, (date of ‘put to use’

1* Jahuary 2024) and sold .buildihg A on 27" February 2024 for -
Rs. 600000. '

Calculate the allowable depreciation for A.Y. 2024-25 under section 32 of
6)
Mr. X (50 yeérs) owns three independent houses during the

previous year 2023-24, He submitted following details of the hoyse

properties,

PTo
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Particulars House-1 House-2 House-3
Purpose Self-occupied Let out Let out
Date of construction 01/04/2005 01/06/2015 01/09/2022
Municipal Value 800000 850000 930000
Fair Rental Value 850000 920000 960000
Standard Rent Nil. 900000 940000
Monthly Rent - 70000 80000
Vacancy Loss - Nil 1 month
Unrealized Rent (2023-24) - 20000 -
Municipal taxes paid by Mr.- X 5% 5% 5%
Municipal taxes paid by tenant - . 20000 10000
Loan taken to construct the property . 1500000 2000000
Rate of interest on loan (per annum) - - 10% 10%

- 31/12/2023 31/3/2030

Date of repayment of loan

Calculate taxable income of Mr. X if he has income from salary Rs. 650000

(computed), interest on saving bank account Rs. 34000 and invested

Rs. 40000 in Sukanya Samridhhi Account during the previous year. He opted

old tax regime.

4. (a) Explain the provision of clubbing of income in respect of spouse’s income

and minor child’s iﬁcomé under section 64(1A) of the Act.

R Fefiened R
KALINDI COLLEGE LIBRARY
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() Mr. X furnished following eyyijg op capital assets transferred by him during

the previoué year 2023.24

Particulars . Urban Land Gold Debentures
Date of Purchase 20/02/1998 10/10/2021 13/07/2018
Cost of Acquisition 600000 400000 200000
Fair Market Value (as on 01/04/2001) 1050000 - -

Cost of improvement (Feb. 2001) 100000

Sale Consideration 4000000 900000 450000
Date of transfer \ ) 05/06/2023 07/09/2023 01/02/2024
Stamp value of Urban Land 4450000 - ¢
Expense on transfer 50000 5000 10000

Mr. X bought a new house on 01/01/2024 of Rs. 3500000 and bought
REC bonds (redeemable after 5 years) Rs. 500000 in special capital gain

account on 03/08/2024. Compute taxable capital gains for the assessment

year 2024-25.

Year 200102 | 201819 | 202122 | 2023-24
cr | 100 | 280 317 348 (12)
OR

(a) Explain provisions on exemption under section 54B in respect of capital gain

arising on agriculture land. . (6)

KALINDI COLLEGE LIBRARY PTo
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(b) Compute income under the head capital gains in the following transferred

~ during the previous year 2023-24.

() Mr. A received a plot of land from phis father under his will on
01/09/2013. His father bought this plot of 1and in year 2009-10 for
Rs. 500000, Fair market value of the land on 01/09/2013 was
Rs. 900000. His father came into an agreement with Mr. X to sell this
property and received advanced money of Rs. 300060 on 01/05/2012
but Mr. X could not pay full amount of consideration within due time
therefore the advanced money forfeited by Mr. A’s father. Mr. A also
came into agreement with Mr. Y to sell this property on 01/06/2023
and advance received money of Ré. 500000. However, deal could
not finalize and Rs. 500000 forfeited by Mr. A. Finally, Mr. A
sell this property to Mr. Z for Rs. 4500000 on 01/02/2024. The

stamp value of the property is Rs. 4900000. Expenses on transfer
Rs. 100000.

(i) Mr. P subscribed 500 unlisted equity shares in ABC Ltd., at price of
Rs. 40 per share on 01/06/2010. A bonus shares were allotted in ratio
of 5:2 on 01/04/2019. All shares are sold for Rs. 300 per share on 25/

09/2023. At the time of transfer these shares were unlisted. Expenses

on transfer Rs. 10 per share.

Year | 2001-02 | 2009-10 | 2010-11 | 2013-14 | 2019-20 | 2023-24
Cl 100 148 167 220 289 348

(12)

FHiferd) wefdgread JReed
KALINDI COLLEGE LIBRARY
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(a) Calculate the amount of deduction under section 80D on the following

payments made by Mr, Ramy (age 55 years) during the previous year 2023-
24, under old tax regime,

(i) Medical insurance premium of Rs. 35000 on himself,
(i) Medical insurance premium of Rs. 15000 on his spouse.
(iif) Medical insurance premium of Rs. 40000 each on his both parents

(senior citizens). (6)

(b) Mr. Z (45 years) submitted his income/investments details pertaining to
previous year 2023-24 as follows :

() Income from salaries (computed) Rs. 760000

- (i) Income from house properties (computed) Rs. 350000
(iii) Interest on bank deposits (net of TDS @ 10%) Rs. 270000
(iv) Interest on saving banks account - ' Rs. 5000

(v) Gift received from his father on marriage anniversary Rs. 51000
(vi) Gift from his five friends on birthday .- ~ Rs. 60000

(vii) A silver chain bought from his friends Rs. 350000
fair market value of the silver chain is Rs. 370000.

(viii) Winning from lotteries (net of TDS @ 30%) Rs. 14000

(ix) Insurance premium for own life (sum assured
Rs. 500000) ‘ Rs. 30000

Compute his net taxable income and tax liability for the assessment year
- 2024-25 under old tax regime. , (12)
K‘ A‘ LIND LLEGE LIBRARY
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OR

(a) Explain following provisions :

() Contribution to Agnipath Scheme (Section 80CCH)

(ii) Interest on Deposits in case of senior citizens (Section 80TTB)

(6)

(b) Mr. Y (63 years) furnished his income/investments details here under for the

previous year 2023-24. You are required to compute his tax liability for the

A.Y. 2024-25 under old tax regime.

SN | Particulars Amount (Rs.)
1. Salary income (computed) 980000
2 Loss from house property (computed) -180000
3. Interest on deposits (gross) 60000
4. Interest on debentures (gross) 120000
5. Winnings from lottery (net of TDS @30%) 70000
6. Loss from winnings lottery -10000
7. Long-term capital gains on sale of land 120000
8. | Loss on long-term capital gains on sale of gold 45000
9. Medical insurance premium 60000
10. | Contribution to Public Provident Fund 140000

(12)
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2. Attempt all questions.
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paper.
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2. mﬁﬂﬁf%mw'

% m%mﬁaﬁﬁmma@?l

4 Wﬁaﬁtmaﬁm§|

3 Wm_ﬁﬂm aﬁm%ﬁﬁ?&qmwim,%

o
.

T IR T W T B B AR

(a) What is Cost Accounting. Differentiate cost
accounting with financial accounting. 9)

(b) Explain the following with suitable examples
(i) Direct Cost
(i) Semi-Variable Cost

(iii) Controllable Cost (3+3+3=9)

OR
t
(¢) From the following information, prepare cost shee
Cost of material — Rs, 13 per unit

Labour cost — Rs. 7.50 per unit

Factory Overhead - Rs. 45,000

175
Genera] administration overhead — RS: 48,

XALINDY COLLEGE LIBRARY
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Opening stock of finished goods — 500 units @

Rs. 20.90 per unit
Closing stock of finished goods — 250 umits

Sales — 10,250 units at a profit of 20% on sales

(18)

(%) meﬁlmﬁﬁmsﬂ?ﬁ?ﬁqw
A R TR
(@) Fr=fiRea =t Svgaa Sewewr aRa ww==d
(i) W&l N
(ii) 3ref-aRaca T
(iii) = QA arE
a1

(x1) Prafofed SEHT ¥ TE TH FR A :
& A - 13 T A g
s @A - 7.50 T W e
R Aa@E - 45,000 TR

e R JRQed - g
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o A SRS - 48,175 T
W-s-qﬁaqq— 2.50-6@@%;&@3@?

A i 1 WS T - 500 IFT @ 2090 TR
vy AT
Jq W @ AR Wih - 250 AT

A - 10,250 ST, faht W 20% T A

2. (a) Distinguish between periodic and perpetual
inventory system. What are the advantages of

perpetual inventory system. 9)

(b) What is idle time? Explain its causes. How idle

time is treated in.cost accounting? 9)
OR

(c) S Ltd is a manufacturer of energy saving bulbs.
To manufacture the finished product one unit of
component ‘LED’ is required. Annual requirement
of component ‘LED” is 72,000 units, the cost being

Rs 300 per unit. Other relevant information are as
follows ;

PR TR
KALINDF COLLEGE unam
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Cost of Placing an order — Rs. 2,250
Carrying cost of inventory — 12% of cost
Maximum time - 20 days

Minimum time — § days

Average time — 14 days

Maximum consumption — 400 units per day
Minimum consumption — 200 units per day

Average consumption — 300 units per day

You are required to calculate

(1) Reorder quantity (6)
(ii)»Reorder level 3)
(1)) Maximum stock level (3)
(iv) Minimum stock level Q)
(v) Average stock level (3)

() Smafie 3R aad Tag) fawew & 9 AR TV o
e foes & w1 aw #7

PUA FEfdNAg YRIGTY Foreth
KALINDI COLLEGE LIBRARY .
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SR T e 2
(i) T i wmn
(i) T e 'R
(iil) Ifrraw wfF R
(iv) =9 wih ®R

(V)Sﬁﬂﬁﬁ‘iﬁw

3. (a) Explain the concept of overhead. Why do under

and over-absorption of overhead arises? (9

(b) A truck start with a load of 10 tonnes of goods
from station P. it unloads 4 tonnes at station Q
and rest of the goods at station R. it reaches back
directly to station P after getting reloaded with 8
tonnes of goods at station R. the distance between
P to Q, Q to R and then R to P are 40 kms, 60

kms and 80 kms respectively. Compute
(i) Absolute tonne kms (4.5)

(i) commercial tonne kms (4.5)

Fiferd) Fednaa !‘N‘“‘ P.T.O.
KMM‘W
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OR
(c) The production department of ABC jtq furnisheg
the following information for the month of

Decembef, 2022

Direct materials Rs 5,00,000
Direct labour Rs 4,00,000
Overhead Rs 3,00,000
Labour hour worked 30,000 hours
Machine hour worked 20,000 hours
Production (units) 10,000 units

During the month of December, the department
undertook a special job containing 500 units. The

relevant data for the special job is as follows

Material used — Rs. 24,500

Direct wages — Rs. 20,500
Labour hours worked - 1,550
Machine hours worked - 975

KALINDI @OHEGE LIBRARY .
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Calculate overhead absorption rate for the

production department, overhead chargeable to this

special job and factory costs of the job when

overhead are applied on the basis of :
(i) Direct material cost method
(ii) Direct labour cost method
(iii) Labour hour rate method

(iv) Machine hour rate method (18)

(=) aﬁa@ga&maﬁmﬁmaﬁa@swmaﬂt
wftre s o B 87

(@) @gﬁ@ﬂ#P%]OZHWWW%IWW
Qm4ﬂﬂmm%aﬂzﬁqm¥2ﬁ1{m

GHRHT%I%WRWSZWWE?@?‘@%%W

W@QWPW@W%IP%Q,Q%RﬁI
RTRIP D AR QW F 40 felt, 60 faRell

sk 80 Fr 21 TR T
(i) T = R

(ii) =forfeaes e ferst

T Wﬂa 3 p.T.O.
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at

) mmmmwm, 2022 9 & forg
e WEETY W HE B

(

weae arr 5,00,000 T
gy o 4,00,000 TR
A 3,00,000 T
S He 30,000 ©&
T ue | 20,000 =2
IR (TrEAT) 10,000 THT
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3 fore ol A A et e R
HRT v Aaes B AR @ R ®= oy Rear
ST 2

(i) w=aer grFREt ene fafe

(i) waer W e fafe

(i) 5 e = R

(iv) o= wer R fafer

4. (a) What do you understand by “operating cost”?

Describe its essential features. 9)

(b) Explain the followings : 9)
(i) Key factor
(ii) Margin of safety
(iiiy ABC analysis

OR

) FrEfdeRed Sﬂm o * EEB
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(c) A product passes through 3 process X, Y and Z.
10,000 units were introduced to process X at a

cost of Rs. 10 per unit. The other information are

given below

Particulars Process X ProcessY | Process Z

Sundry materials (RS) 10,000 15,000 5,000
Labour (Rs) 50,000 80,000 65,000
Direct expenses (Rs) 10,500 11.875 20,090
Actual output (units) 9,500 9,100 8,100
Normal loss (%) 3 5 8
Scrap value per unit (Rs) 2.5 5 10

Prepare process accounts and normal loss,

abnormal loss and abnormal gain accounts.

(18)

(F) 3 wRae wnE ¥ w1 THER 87 FES JETEEH
R & aofr <6

i HEeherd JRaierd
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(@) Fefeias = =mem i -

(1) =9 &R&H

13

(i) geem w1 AR

(iii) TR fagerwor

at

(@) U IE 3 whA X, Y 3R Z ¥ IeRar 21 10,000
THEA A 10 TR U TS A AR WA X A
I forr TEm I WM A & TE @

faazor uferar X | wfehar Y | wfchar Z
fafan arelt (v ¥) 10,000 15,000 5,000
(TR X ) 50,000 80,000 | 65,000
e g (T H) 10,500 1,875 20,090
Ty IaeT (g@Ear) | 9,500 9,100 8,100
e B (%) 3 5 8
o T whT T 2.5 5 10
(v %)
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5. (a) Discuss the methods of ascertaining profits on the

following contracts with example : (18)
(i) When contract is completed
(i) When contract is not completed

(iii) When contract is nearing completion

OR

(b) Following data is given
Selling price — Rs. 20 per unit
Variable manufacturing cost — Rs.- 11 per unit
Variable selling cost — Rs. 3 per unit
Fixed factory overhead — Rs. 5,40,000

Fixed selling overhead — Rs. 2,52,000

You are required to calculate:
(i) Contribution ()
(ii) P/V ratio (2)

(iii) Break-even point expressed 10 units o

3)

sales

T Fefaiey YR
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(iv) Break-even point in amount of sales in
rupees 3)

(v) Number of units that must be sold to earn
a profit of Rs. 60,000 (3)

(vi) How many units must be sold to earn a net

profit of 10% of sales? (5)

(%) FrfeRae smeell o ot & gar @ @ Rt ®
IeENT Gied Tl A

(i) 99 Y W B WK
(i) 19 €Y T AE g B
(iii) V@ FFFT [ B an @

at

(@) PreafaRea et fear @ 2
fwa T - 20 T WA TR
tRadda RfEs weE - 1 A TR
TR A o - 3 T A T
o BEd) Aa@e - 5,40,000 T
Rey A MadT - 2,562,000 T

m m m P.T.O.
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PART A

(All questions in this section are compulsory)

1. (a) Given a list of 15 sorted numbers and an element

7 2 needs to be searched in that list.
<3,4,7,9, 11, 24, 37, 40, 43, 56, 72, 82, 90, 97>

Which searching technique would you prefer and

why? 4)

(b) Given that a class QUEUE is defined using array,

write member functions to insert elements in this

QUEUE. 4)

(¢) Which will be the most suitable sorting method for

the following situation? Justify your answers.

(i) A teacher arranges the students according
to their heights by choosing the student with
the smallest height first followed by the
student with second smallest height and O

(3)

on.
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3)

(d) What is a recursive function? List th

and disadvantages of using recursion.

e 3x4 is to b€
Each

(e) A two-dimensional array A of siz
stored in one-dimensional memory space.
element requires 4 bytes of memory storage. The
base address of the one-dimensional space is 250.
Determine the memory location of A [2] [3] when
the array is stored using the Row Major
representation. Also, give the corresponding

mapping function. (3)

(f) Write a function to remove an element in 3

STACK using an array. 3)

(g) What is a binary search tree? Explain with help of

an example. (3)
(h) Give the necessary class definition to Create
a

singly linked list of integers.

(2)

. wiferd) welaaad TRaey -
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PART B

(Attempt any five questions from Q2 0 Q8)

2. Consider the following circular queue which can store

maximum 6 characters : (10)

A

0 |
!
Front
Show the content of the queue with the positions of
front and rear after each of the following operations :

(i) B, G, F are added to the queue

(i) Two letters are deleted from the queue

(iif) X, Y and Z are added to the queue

(iv) Three letters are deleted from the queue

(v) N is added to the queue

KALINDI COLLEGE LIBRARY
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3. (a) Write a function that uses a stac

5
k to check if 2

sequence of characters entered by the use

a palindrome. The length of sequence is g! is
a

advance. A palindrome is a sequence that 1€ o

the same backward as forward. For examplé, 1

the input is a b ¢ ¢ b a, the output should confirm
e input isab b ¢

iven 10

it is a palindrome, whereas if th
a, the output should confirm it is not a palindrome.

(5)

(b) Consider the following list of unsorted numbers:

<8, 20, 9, 4, 15, 10, 7, 12, 23, 14, 6>

Apply merge sort on the given list of numbers
and arrange them in ascending order. Show
intermediate steps while performing the sort. Also

count the number of comparisons done while

sorting the list. (5)

4. (a) Consider the following expression p, use stack to

check if it is a valid expression or not, illustrating
value of top of stack at each step. An expression

is valid if it has matching parenthesis.

=((a+b)/c—d*0> (6)
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(b) What is a sparse matrix? Give two examples of ,
sparse matrix (4)

5. (a) Give the class definition of doubly linked list DL[,,
Write member functions to insert and delete ap
element from the front of DLL. (6)

(b) What will be the output of the following function

f unc for the given linked list with first node as
head? 4)

Head

void func (class Node* head)

{ if (head = = NULL)
return;
func (head - > next);

cout << head->data << " e

SN ey gRE
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written

(10)

6. Consider the following arithmetic expression P

in postfix notation :

pp ABC-/DEF+*+

(i) Translate p into its equivalent infix expression

(ii) Evaluate the above postfix expression and show

the intermediate steps using stack for the
following values : A=12, B=7, C=3, D=2, E=1,

F=5

7. (a) For the binary tree given below, give the preorder,
postorder and inorder traversals of the tree.

Is the tree a binary search tree? Justify your

answer. (6)

ee
€
& @ ©® 6

(3 (&
()
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b) Explain tl i
(b) Exp 1e following terms with help of exampleg
(i) Height of the tree

- (i) Complete Binary tree (4)
)

R e R
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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

Question No. 1 is compulsory and carries 25 marks.

Attempt any five questions from Q. No. 2 to Q. No.
7.

Parts of a question should be attempted together.

PART A

(A1l questions in this section are compulsory)

(a) What is a priority queue? What will be functigp of
enqueue() operation in a priority queue? )

Fiferd) FRIfdeAdd JRI$Ie™
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(b) What is the difference between complete binary
tree and full binary tree? @)

(c) State three applications of stack. (3)

(d) Give the abstract data type specification of a single
dimensional array (3)

(e) Convert the following expression from prefix to

infix : (5)
++-%22/1685

(f) Perform bubble sort algorithm to sort the elements
of the given array. Show the array contents after
each pass of the algorithm.

{2, 45, 100, 18, 11} (5)

(g) Write a function to reverse the elements of a singly
linked list? )

PART B
(Attempt any five questions from Q2 to Q8)

2.  What is the difference in linear queue and circular
queue? (10)

. R . f
Consider a linear queue created using an array 0

Size 3. Perform the following operations in the given
order and show the status of the queue after every
Operation:

i

KALINDI'COLLEGE LIBRARY



6412 3

Enqueue(4), dequeue(), dequeue(), Enqueue(5),
Enqueue(6), Enqueue(8), dequeue(), Enqueue(9)

Now perform above operations using circular queue¢.
Show the contents of the circular queue after

performing each operation.

3. (a) Create a binary search tree by inserting the

following elements in it in the given order.  (3)

(20, 34, 16, 43, 53, 65, 42, 75, 33, 4}

(b) In the tree drawn in part (a), Delete the element
with value 16 and then element with value 65.

[llustrate with diagram, the resulting tree at each
step. (5)

(a) Consider a stack of size 5. Perform the following
operations in the given order and show the status

of the stack after every operation : (5)

Push(4), pop(), pop(), push(5), push (6), push (8),
peek(), pop(), pop()s push(90)

(b) Write a function to calculate the number of nodes

in a binary tree. . (5)

ﬂmlmm * P.T.O.
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5. (a) Consider an array with the following elements:
{102, 280, 405, 513, 642, 746, 910, 958, 1004}

Which searching technique (linear or binary) is
more suitable and why? Show the steps for

searching the element 280. (6)

(b) What is row major mapping and column major
mapping? Explain with the help of an example.

(4)

6. (a) Give necessary class definitions to create a doubly
linked list. Write a member function to insert an
element at the front of the doubly linked list.

(6)

(b) Write a function to remove an element from the

tail of a singly linked list of integers. “4)

7. (a) What is a sparse matrix. Write the function for

multiplying two matrices. (6)

(b) Perform quicksort algorithm to sort the elements
of the given array. Show the array contents after

each pass of the algorithm. (4)

(22, 5, 10, 18, 41, 52, 21, 44}

mﬁ:mﬁ‘agrﬁﬂm m (500)
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Attempt any two parts from each question.
All questions are compulsory and carry equal marks.

A person draws two balls from a bag containing 3 white and 4 red balls. If he is to
receive Rs. 10 for every white ball which he draws and Rs. 20 for each red ball. Find

his expectation. 6.5
In a lot of 50 light bulbs, there are 2 bad bulbs. An inspector examines five bulbs, which
are selected at random and without replacement : 6.5

() Find the probability of at least one defective bulb among the five.

(i) How many bulbs should be examined so that probability of finding at least one
bad bulb exceeds 1/2 ? :

The contents of urns I, II and III are as f(;IIOWS 1
1 white, 2 red and 3 black balls

2 white, 3 red and 1 black ball, and

3 white, 1 red and 2 black balls

One um is chosen at random and two balls are drawn. They happen to be white and
red. What is the probability that they come from urns I, I or Ilf 9 - 6.5

" - KALINDI COLLEGE LIBRARY
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(2)
- i itive
SupposetlmXisamdomvmamewth(x)-_-|oandV(X)~25.FmdtheP°3
.numberaandbsuchtlmy=ax_b,hasmmzemandvariancel. 6

A variate X has the probability distribution :

X =3 6 9

P(x) 1/6 1/2 173

Find E(X) and E(X2) and using the law of expectation, evaluate E[3X — 4. 6

Find the cdf of the random variable X whose pdf is given by :

1 3 S
==+ <x<2
f(x) 8+8x,V0 x

Hence find P(1 £X<1.5) and P(X > 1). | 6

If X is a discrete random variable with mgf My(#) and let Y = aX + b. Then prove
that My(r) = e'My(ar). ‘ 6.5

If a random variable X has Poisson distribution with mean unity, then show that : 6.5
2
E(X-1)="o,.

A car hire firm has two cars which it hires out day to day. The number of demands
for a car on each day is distributed as Poisson variate with mean 1.5. Calculate the

proportion of days on which : . 6.5
(? Neither car used

(#) Some demand is refused. (¢~!~ = 0.2231).

¥ 74 ¥ ALINDI COLLEGE LIBRARY
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For the following density function fix) = cx%(1 — x), 0 < x < 1, fix) = 0, otherwise.
Find : | 6

() The value of constant ¢

(i) The mean.
If X is normal variate with mean 10 and standard deviation 4, determine the probability
P(X217. 6
) 0.756 -_,2 ;
[Given: j dz = 0.2734]
If X has exponential distribution with parameter A, then prove that : 6
1 1
E(X)=—, V(X
(X) e X) = IR

A random sample of 10 boys had the following 1.Q.’s

70, IiO, 110, 101, 88, 83, 95, 98, 107, 100.
Do these data support the assumption of a population mean 1.Q. of 100 ?
(fg.05(9) = 2.262). - 6.5

Twosamplesofsizm9and8givethemofsqtmmofdeviaﬁomﬁomﬁrirmspecﬁve
means equal to 160 inches square and 91 inches square respectively. Can they be

~regarded as drawn from the two normal populations with same variance ? 6.5

(Fp.05(8 7) = 3.73)
A simple sample of 1000 members is found to have a mean of 3.42 cm. Could it be
reasonably regarded as a simple sample from a large population whose mean is
3.30 cm and standard deviation 2, 6 cm ? i 6.5

mﬁpa wsm W’“‘; | PTO.
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6. (a) A random sample of 16 cm men from country A had a mean height of 68 inches and

(®)

(©)

7511 -

a sum of squares from the sample mean is 132. A random sample of 25 men from
country B had the corresponding values 66.5 inches and 165. Can the samples be
mgmdedasdrawnﬁomﬂxenonnalpopﬂaﬁm?[Fvalwfor(IS,%)degrmofﬁeedom

~ at 5% level of significance is 2.11). : 6

Find the student’s ¢ for the following variable values in a sample of ten :
-63 —43 _ls -l’ 09 'l’ l’ 39 4, 5, taking the mean Of the univel’se to be ZET0. 6

A die is tossed 120 times and each outcome is regarded as under : 6

Faces 3 | 2 3 4 5 6

Frequency 20 22 17 18 19 22

Is the distribution of outcomes uniform ? (120.05(5) = 11.07)

- * o ~.
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